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| HITEST Probability)

¢ The Theory of probabilities is simply the science of logic
quantitatively treated — C.S. PEIRCE **

13.1 §__I‘ﬁ-|’6("' (Introduction)

wes=t T wied Ie e nfarsfasrahvuegufse ufgnm /|
it gHt arfe 3 fefarmat €. 91 . d@Haiew (190341987) gt
fogr refiu fendtde e femRH s 3T Htma FeresTd yGar
€ &3Pt Iufgemresns € guf<e gamfer st prrt mHEFeT=t
3ttt &t o3 9 AgesT & Aefiu fardlde w3 a&mias
fra3T (classical theory) € mH3®3T =t Aarfuz a1t At fem
AHZS3T € Mg 3 miHt fesaT Taait AT &t weat=t &
AgTEaT U3T St At It figresT © A3 oo T & sifoirs
a3 | fem mifomrfe f&g wirt fan wesT &t a3 gt
(conditional probability) g9 fegra aata] 7€ fa fam JgweasT&
wfez I et geaT s d® d=, 3 fen H3=yas uaaT ef

Pierre de Fermat
(1601-1665)

Hee 3 gu=dYHT (Bayes' theorem), HI™=aT € I f&0H W3 wiae weasT=t g7d
AHYTIT | WA 839318 9% (random variable) »3 feret rgreaT <5 St mgdt ugaT § =
AHETAr 3 fart Ag=aT =3 € HoH™s (mean) M3 YAa< (variance) € S UgTar Ifanrfe &
wifan grar fET fea Hu3=yas fedarig=ar =3 (discrete probability distribution) € g7d
yzTar frmg Suet <3 (binomial distribution) faar ater T Ifer mferrfe € nifay garfes
T fed fad year &=1ar fagsT € a3t méAg=t J€ 76, 7 ST e st A< |

13.2 9Hd3 HI'=5T (Conditional Probability)

g 3 T far wesT € Aig=aT UST J9% 3 9997 A1t J | 7ad mAT fan a3t Avg
(sample space) €t & weaT=t {83t I 31, dt fan fa wesT € wfez I et gusregat

S =

WesT T AgTesT I g<dr ?
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g fen yas € €39 B8t Ea 939319 (fair) y&iar 3 fegg gdte fane s3iH
AHEFT=T I3 |
g ge 135 faaly (fair) fiffant & G © ytiar 3 feu9 adie | few ywarer
&M AHT
S = {HHH, HHT, HTH, THH, HTT, THT, TTH, TTT}

(VR ] o =~ = o ) o 1 o =~
ﬁ@ﬁmmm,mwmmmﬁemaﬁﬂf&géw§ W& Ade
It | He B8 E weaT [uWeele € fgg w8, w3 FwesT ufad fAad I ue e, &
fye gt

3 E = {HHH, HHT, HTH, THH}

w3 F={THH, THT, TTH, TTT}

fem =t P(E) =P ({HHH}) + P ({HHT}) + P {HTH}) + P ({THH})

11111

57878 s 2 ()

w3 P(F) =P ({THH}) + P {THT}) + P {TTH}) + P ({TTT})
11111
“3'5'8's 2

&% dt ENF={THH}

fem s&t P(E N F)=P{THH}) = %

e ¥ 8 g fear 9 fa ufed ffa 3 ue m@er I 97 wesT F wfes 3et 7, 3t
wesT Edt Ag=aTat 9 ¢ F € wiez I €1 pus 3 feu fanfaz 9 fa E & figeaT usr
35 BET BUuaT T5ql fdgnt 3 fegg adt disT Ar=ar favs f<v ufed ffad Iue sat 71
weaTE ®et fer FuaT 3 St AMT S 3 we & ferer Qu-AYalF g< fapnT 7139 Aeer
&g, fen aat HuaT & Ay »As fee 8o efimr § fa o3 § fea feg fagt &< g3ty
yGiar 3 U ffg g e rdteT J fAneT faait AT a=8% Bust a3t erao I frgs fa
WeET F € 58 I35 |

s F =7 €v <591 fde fAusT E St wigg® &, THH J I fer et
o o o~ s . 1
F & a9t AHo Hae J8 wesT E € Ag=sT = 2
N - = . 1
C F ewfeg I I E EtAg=ar = —

4
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weaT E € Ag™eaT & 93 AgTeaT Jfde 96 17 fa usTJ fa wesT Fwfez T gat
I w3 fen & P (EF) Tvat foue gt
@?HHH=%

dcadfaF QU3 Aoz wes™ E € S a3 fS9U8] E M3 F €A I3 I 75,
FTENFE g5t fdgas|

fer et vt WwesT E & 993 AgTesT, A fa U3t d< fawesT F wfeg 9ot J,
& Jot faut 3gT usT J9 Aae I :
(ENF) Engsas 547t fdemt &t Afenr

F @_ __=_: To 'ﬂ' ﬁ'o= leo_']'_n'ﬁ" '

_n(EnF)

(P

IS WA M3 79 § T&IIT AHT € 33T €1 & farest 3 grardas 3 wHt fue ot fa P (E|F)
Jat fe 3 yarg 3* fafanm Ar Aaer 34

P(EF) =

n(ENF)
PER) = —2) =P(FE,(:)F) )
n(S)

degdfa (1) stdtisesdardae faP(F)z09=F = ¢ (fa€ ?)

fenset vt eTHa3 Ae=aT § J6 fad Idta 7% ufggTaz aae ot |

Ufggm™™ 1: Agd Em3 F fai 39318 y@ar € Sa3it myo 3 18fus € wes=r g%, 3t
F € wfes 9< €t guaT 3] E & Ag=sT Ja fay 739 3 yuz gt Ji

P(ENF N
P(EIF) = (P(F) ) ,Ae fa@ P(F)#091
13.2.1 9HI3 HI'=&T et fermaT=i (Properties of conditional probability)

He 38 fa E»3 F fart a9t AW S €1 € wes=t 7t
femm3T1 P(SF) =P (FF)=1
g ugT I for P(S|F) =

P(SNF) _P(A) _,
P(F)  P(F)




552 gifes -
a7 ot P(FIF) = P(PF(”F‘)F) - Eg 1

fem wet P(SIF) =P(FIF) =1
ferm3T 2 #a9 A w3 B S53itAyT S S aEt S wes=r g w3 F ffa JowesT fen
ygs I fa P(F) 0, 3,
P[(A U B)|F)] =P(AJF) + P(BJF) - P[(A n B)|F]
YA 393, dad A M3 B WUH &T- g3t weaT=t I 3T,
P[(AUB)|F)] = P(AF) + P(B|F)

At Aree I fa
P[(AuUB)NF]

PLABIF] = =5 =

P[(AnF) U (BNF)]
P(F)
(Mt St ae 3 Aw © =3 fomi aat)

P(ANF)+P(BNF)-P(ANB N F)
P(F)

B P(AmF)+P(BmF) P[(AnB) nF]
- PP P(F) P(F)
P(AIF) + P(BIF) — P(AmBJF)

79 A3 B wWuRfeg &sT-g3 d= 3t
P(A N B)F)] =0
= P[(A U B)F)] = P(AFF) + P(BIF)
fen Bt 7" A W3 B »un S &7 g3t west=t 3= 37, P(AU B) = P(A[F) + P(B[F)
are 3 P(E'F)=1-P(EF)

ge 1l IAduzrdfa P(SF)=1

= PIEVEIR]=1 fa@fa S=EUF
= P (EIF)+ P (E'|F) =1 fa€fa Em3 E'mrun <o 5™ g3t wea=i a5
fer et P(E'F)=1-P (EF)

Mg g I3 Gergdet BEiE |
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A - 7 9 . 4 -
SETJde 1: Had P(A):E,P(B):EMB' P(AmB):E,BT P (AB)u3Tdd |

P(AmB)_
P(B)

wift Fred gt f P(A|B) = =%

6ol |~

Gergge 2: ¥ ufgerg e € 99 05 | Had feg uzT 3= fa gfent feg ufe- ufe fea gaT
BIATT, IS gfoT @ BIAT IS ST AT AI=ETT ?

U5 e B8 b B33 § M3 ¢ B3dT & TIAET U6 | YHaT €7 591t AHT J%
S={(b.b), (g.b). (b.g). (g8}
H& B8 Ew3 F great I& faut wes=t & gane s:

E: e 99833 I8
F : gfout f&g ure-ue e s3ara

EY E={0.b)} 73 F={(0.b) (gb) (b2}
AL EnF={(b)}
frmdt P = owI PENF)=,
1
P(EAF 1
frwd PER= oo o4y
:

Gergae 3: foa gan fS9 R 97 13 10 39 3 AY9s Aftmret foy & 39 I8 g5 M3
SuaT & Iait Ig7 e 3T farur T | few gan 3 féq a9s §393Tet &7 dfenT famrm |
Had feg usT = fa ae 38 a9z 3 AT 3 3 U J, 3T fed AfywT © fAams de et at
AI=ETd?

(VRN (M =

I5: 15 8 fa AweasT ‘de T a95 I fAAg Aftrm I’ i3 BWeasT™ a2 JE 98 3
Aftyr 3 331 T & wam 8T U5 17§ P(AB) UST 35T I |

ferm yearer fsat mo kS ={1,2,3,4,5,6,7,8,9, 10}

3t A={2,4,6,810}, B={4,56,7,8, 9,10}

-~

I AnB={46,8, 10}
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Js |3(A)—i P(B)— ‘ﬂB’P(AmB)—i
4
P(AnB 4
3t P(AB) = (ID((I;))Z%_?
10

Gergae 4: fea rg® e 1000 fefenradt o, fagst fe9 430 s=zdti o5 IfegusTd

fa 430 féﬁ'lO%BBaﬂmeIIfequg@waﬁla?waﬁrfeamﬁm
gl Ifem fefenmast 7 X {99 ugery, #o@ fea usT I for gfemr Sfenr fefenrast
B3I T?

T% V& 3G E wesT ‘g3931 575 gfen fefonmadgt mras Xl fefs uger 3 w3 FuesT
‘g3t 5% gfenr fefenraet s34t 37 & fenaz aee 06 1A& P (E|F) U3T 95T J |
430 43

= P(F) = <o - =043 w3 P(ENF) =1~ =0043 (fa@?)
| PENF) _0.043
o PER="pm o4 "

Gergae 5: ffg um & 3 o9t Hee © ydar fSg wes™ A w3 B § J5 fau 397
ufggaz s3I 3
A ¢ It 8= I Aftorm 4 mrQ@er
B :‘ ufost €% 3 Afemm 6 Mz gt 3 Afewr 5 nrG=r
Had B erwfeg g 3T d, 3T weaT A St Ag=sTU3Taq |
7% &t AT fEe 216 ufgeas |
Js, B = {(6,5,1), (6,5,2), (6,5,3), (6,5,4), (6,5,5), (6,5,6)}
1,14 (1,24)..(1,6,4) (2,1,4) (2,24) ... (2,6,4)
(31,4 (3,24)..(3,6,4) (41,4 (4,24) ...(4,6,4)
(5,1,4) (5,2,4)...(5,6,4) (6,1,4) (6,2,4) ...(6,6,4)

-~

LIE] AnB={654)}
6 1
< P(B)_EW P(AﬁB)_E

1
P(ANB) 715 1
3 P(AB) = (P(;) )22513625

21

(o3}
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Sergae 6: feg U § € Tat Hfew famm iz wiri@e Tt At er d3 6 yuz aisr
fapdm 1AfaT 4 < ufe- Wiz feq dt B &t THI3 AgTeaT U3 ad |

7% V& &8 fa E wfea  Afgmr 4 avufe- uie fifg @dt e’ w3 F wesT‘ <
yfidt 3 et Afteret ev 13 6 97§ Ean 8T U5 |

3T E={(41),42),(43),(44),45),46),(14),24),(3,4), (54,64}
L ES F={15),(2,4),33),(42), (51}
.. 11 5
»At Aree 7 fa P(E) = £] P(F) = %
w3 EnF={24),42)}
RES PENF) = 3—26
fon Bet &St Ag=aT 3
2
P(ENF 2
PER) = Tpo R
36

ge 3wt Gust yuiar 3 fegme 137 I fAgsT € A9 531H AH- AgT<t At | fegst
YT Bt aHe3 AgesT & Ufgg™ 3 a3t J |Ae i awme3 AgresT €t feg ufggm,
fenmua gu 3, B0 o83 f[<T <t feraws 1St AT RaE! 4, 7 Hisd wesT=t AH-AgT=t
aTI< IFg=sT P(E N F) w3 P (F) T udtass S nigna stgTaier I |

g Jo fay Gevdet 575 feng miste :
Gergae 7: e fia §Be B AT yWar3 fevgad Ings fia S fesm= 3t fia &
I Qe fEnT A2 ug 749 fAa 3 Ue e 3T ffq AT He | Aad weaT ‘wie-ue fea e
nmer erufeg Fer fidsr famr I It wes ‘R4 T A
TS Afet ev BT’ I T RIS AT UIT AT |
J%: year € 5317 {939 13-1 &9 wanfenr A Ager I
fenr ygg € f3g § gu-dur feggafde as |

YHar €T 541 AHT 3
S={(H.H), (H.T),(T.2), (T.2), (T.;3), (T.4), (T.5), (O ... .-

>
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w3 (T, i) eamgerJ fa ufost e 3 ue nifenmm iz
UH & Hee 3 Afuntt i niret |
o « ax 8 BT WesTT (H,H), (H,T),(T,1), (T,2),

" (H,H) san@er g fa ¥ = 3 fea nifenr J, .
( ) e <
iz Vs

T.3) (T.4), (T.5), (T.6) €t 1iil

(T,3) (T,4), (T,5), (T,6) 1 gH=g 21121 v
1111, L

IERERERE] Ho=sT fagufag 3t AT Aaet 7, fA= ]
fafaza 132 e d| fggg13.1

H& B2 F weaT fagurfag ‘we-ure feq e Mg’
M3 E wesT ‘U 34 I IS Afrrwr@er S eanE e Us |

3 F={H.T),(T.1),(T.2),(T.3) (T4, (T5),(T.6)}
E={(T.5), T.6)}"8 EnF={(T5) (T.6)}
< P(F) =PA(HT}H + P H(T.1)} + P {(T,2)}) + P{(T.3)}) +

P{(T.4)}) + PA(T,5)}) + PA(T.6)})

11 1 1 1 1 1 3
=4+t —+—+t—+—4+—=—

- 1 1 1
w3 PENP=PUTEN+PATON= 1+ =5

P(E mF)_
P(F)

femsst  PEF) - 2

Nlwlo |-

| mfenm 13.1 |
1. 799 E 3 F few g7 <t wea=t g5 fa P (E) = 0.6, P (F) = 0.3 M
P(ENF)=02] 3,37 P (EF) 3 P (FE) uST a5 |
2. P(AB)uSTad, 799 P(B)=05mF P (AN B)=0.3232
3. FFTP(A)=0.8, P(B)=0.5%3 P (BJA) = 0.4 u3T 3T |
(i) P(A N B) (i) P(A[B) (iii) P(A U B)

4. P(AUB)USTET, ﬁB(HZP(A):P(B):% "3 P(A|B):§




10.

11.

12.

13.

Ag=aT 557

#7949 P(A) = % P(B) = % ES P(AuB)z% I YITIT :
(i) P(ANB) (i) P(A|B) (i) P(B|A)
Jo fea yas 6 3°9 S <9 P(EF) u3T a9 |
fea fiar & f3= =at Gerfomr fapum
(i) E:SHtGe=w3fes, F:ufsteesesafas
(i) E:ureuee a3, F:<Ju3Jufeafss
(iiiy E:Su3 UL UL, F:ulguegue
& fifant & f€a =vat GerfemT fapur:
(i) E:feafia 3 uemw@er F:fea a3 fegwer
(i) E: detue sTBTFaset fagsTom@er
fea um & f3= =<t Gefomm ater &
E: 3t €e= 3 Afwnr 4 BT
F: ufgst e =t 3 guee 6 W3 5 »rer
fea ufgerg & fozg ffo W3, fus™ w3 U39 5393t 5% U2 75
E: y3gffafAg 3 u=Tq, F:fugrfegagusrd|
fea a8 w3 fa &% ui § Gefen faprr 3
(@) ufmnt 3y Afiret er a3 9 Je St e Hes AgeaT u3Tdd Add feg usT
I fa @ ym 35 e I
(b) ufrnt 3 YUz Afeet €753 § I € g3 Ag=aT U3Tdd Had feg usT
IR fa s un I A 4 e T
fée faqity uh § Hfewr ater §1wes=t E = {1,3,5}, F={23}, »3 G =
{2,3,4,5} et ds fsauzTaqd :
(i) P (EIF)™3 P (FE) (i) P (E[G)m= P (GE)
(iiiy P (E UF|G) ™2 P (ENF|G)
Ho 58 fa AoH 8 o8 €9 er i3 AT g3t 3T iM- Ag™=t 7 | Had fan ufsea feg
T 99 U5, 3782 ofomr € g3t I Stemes AgresTat 7, Aad fea fegr 3= fa ()
Ag e HUT IS T (i) We-we g surast I|
fea miftmua € 3% 300 He/gs 39t € »s yus, 200 He/85 39T € HRfas yrs,
500 s9- fea®y yard € mArs yus #3 400 g99- feasy yarg € Hafa® yns 95 |
Hag yrasT f[S9° fEa yas §393tet &7 gfenm ater 7, 37 f€q mims yis €t 9g-
feamit e StatAg=aTa?
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14. fegfezsrdfenr T fa € ufimt § Hee 3 YU Aftret S4- 4 98 182 Afanret
. a0 4 TSEATEETUSTET |

15. €T uw & Hee € yiar 3 fega a9 | 7a9 UH 3 mret Aftenm 3 S grem 9 3T U
& T He M3 Add A€l 99 Aftmm e 37 fq ffa § B8 | weasT ‘we- we fea
U 3 Afeer 3 wr@er ’ fagT Jfewr T 3T weaT ‘fifa 3 Ue WE=r & /a3
HI=ETUST AT |

I5 fou yrst fe9' 59a ferat €398 |

w.mmmm:%mmpowpmmﬁ;

1
(A) 0 ) 3 (C) ufssfaz st (D) 1

17. #gd An3 B € west=f fen ya9 g5 fa P (AB) = P (B|A) = 0 3T
(A) AcB (B) A=B (C) AnB=¢
(D) P (A)=P(B)
13.3 Ag=aT v greT faw (Multiplication Theorem on Probability)
He 88 fa E w3 F fEg faait mig S & & wea=t 95| A 39 3 AT
ENF S wese Em3 F eufeg e deanr@erJidommerfds ENnF wes=r
Em3 Feffa mi fegwufes g §ean@erdiwesT ENF§ EF St fafumraerd|
AT WAt ATT3 Wea™ EF € Ag=aTU3Td9s ©f Aga3 Jer J |18egde &, fia
T e g U3 § dee € yudr &9 »irt Hafas wesT ‘feq sera w3 ffg gt &t
HI'=aT UST 996 © fegd J Ade I7 | WeaT EF € Ag™=aT U3T 9ds & »HAT ITHI3
AgTesT @ fer3H™® qde It fA= fa & feyrfemT fapur 7 |
WHT Aee O fqd wear F € &3 7' 3 wesT E € 9Hd3 Ag=aT &
P(E|F) a<t eanGE g »3 fend Jo fau gt usTaae 95 |

P(ENF
P(EJF) = %,P(F);to
€3 &3 a3t 3 vt feu Fae ot fa

PENF)=P(F).P (EF)

. ()
At feg St Aaee of fa
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P(FIE) = = (E)E) P(E)%0
o P(FE) = P(E(;)F) (f€fx ENF=FUE)
fer met P(E F) = P(E) . P(FIE) e

(D) 2 (2) SfimesIrsyuzderdfy,

P(E nF) = P(E) P(FIE) = P(F). P(E|F) <" fa P(E) = 0 M3 P(F) # 0
€3 fE3 53 & FaeaTer Ies fau ’ afde g& | fiéq Gergae =Hte |
Sergae 8: ffa awn g 10 aatt M3 5 AZe JiT 95 1€ Jiet fEa © g e aetmt
AT g5 w3 ufast 3re et € dee 3 ufast Ha odt it et 3 1Hs 36 fa awn &9
IS I TTIEST AH-AT=T 7, 3T 82 T@B T Iier e el aT Ag=aTd ?

7% e fa E ‘ufgst aat dre € feases’ St weaT I w3 F ‘edt a8t die fsases’
Tt weaT T | At P(ENF) A7 P (EF) UST Jda7 T |

= P(E) = P = (uﬁa‘fie’ram‘faﬁ?)g

&% 3t fdgr Aarer I fa ufost =t fR &t e o=t I = WweasT E wfeg et d, as
Fen S99 @i dret w3 5 Ase dret us | fen &et, grt die @t Je St Ag=aT Ae
fufaBt e T BT TIT TSI a<® F St THIS Ag=aTd A E Trwfeg e uaTd|

9

g= PFIE) = 75
g< AgesT & gt famd gt A YUz e g,
P(ENF) = P(E) P(FIE) = P(E) . P(FIE), P(GIEF)
10 9 3
= — X—=—

15 14 7
€ 3 T WS BE HI=ETET IR fotH: 7ad E, F i3 G féq S5ait Ao St west=t
J&5 3T,

P(ENFNG) = P(E) P(FIE) P(GIENF) = P(E) P(F|E) P(G|EF)

fen 39t figesT € g fau e fenars 99 AF TU wes= et S A3 AT HaeT 7 1T
fout Berade 3o weasTe 8ot AgTesT & greT fauH @ AURdags feerd |
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Sergge 9: 52 Ufgwt &t g9t et get gt f&9 ffa & g R f3as U3 sdid sed o
e 1ufg® & Ufant ergena w3 SR e fear e St atig=aT T |
75 e 38 fa KwesT ‘dfenr Ifenm U3rgena 37 & w3 AwesT ‘dfen gfenm agr
I far 3’ § Tan8E I8 IAe 39 3 g P (KKA) U3Tda5T J:
ge PK) = —
A ( )_ 52

575t P(K|K) feg u3r = 3 fa ‘ufgsr dfenm U3 gema 3’ ua g+ U3 e gerg
JE StAgesT§ SR IgE 3t fR9 (52 — 1) =51 U3 75 fruaT &9 3 gema o5 |

3

fem wet P(KIK) = 31

[ RV N

fen et P(AKK) St ae Je U3 € ffa I St gmes Ag=aT d Ae fa g usTJ
fod gergufgsT A de AT I5 1TSS Jiet 9 50 U TT I |
4
few met P(AKK) = P(AIKK)=5—O
FgesT € g femd aat g yruzg ger J fa:
P(KKA) = P(K) P(K|K) P(AIKK)
4 3 4 2
= —X—X—=——
52 51 50 5525
13 .4 mige weas'<™ (Independent Events)
52 Ufanit &t giet fES e UsTaee © ydar 3 fega ad fam f[e soa ifsa wea™ & mv-
A=t ifonT Ifen I Aag Em3 F guemdl weast=t ‘dfenr Jfemr dor fagter ' ma
‘i@rﬁﬁnrﬁwfﬁafﬁwﬁ’éew@%m,s;g
13 1 4 1

P(E) = 5—2=Z rFkk P(F)ZS—ZZE

s& 3 'E M F dfen gfenm U3 fagt e ffar 3’ & gan@e 9,

ferr et PEF) = —
52
1
PENF) 5 1
. 13
fa@fa P(E) = Z:P(E|F),frn{#a'ﬁrﬂa@'6+1%rwc¢' F Sufeg Je St a3

wesT E € AgTeaT 3 I WAd a1 utfemT|
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1
AT Ay e PEFIE) = %%% -P(F)

4
T P(F)= - = P(FE) wamrerd f s E & ufew T ¢ g & wer F &
HIRET I e AT ST urfenT |

fen &€t E w3 F fen 397 & wea=t 5 fa fan feq wesT € wfes 9= & gear gt
WesT at Ag=aT 3 a8 WAd &at U@et I |
fem yarg €t wesT=t § viae wes=t Jfde 5 |

ufggmr 2: Tweas= E W3 F § e weaT= IfJe I6 Add
P(F| E) = P(F) 7 fa P(E) #0
P(E| F) = P(E) 7 fx P(F) =0

fem Yerg ufasHT f&9 P(E) 0 M3 P(F) = 0 I &t T

IS Ag=s eI fomH 3

P(E N F) = P(E) P(F|E) .. (1)
Had EmM3 Foime wes= g 3t (1) I d fuser g fa

P(E N F)=P(E) P(F) .. (2)

fer set (2) © femas 3wt € weaT=t &t et § 35 fout 39t ufsefas a9
HAE JT|
ufgemT 3: & B8 Em3 Ffan 83939 YTaT € &4 AHY € S wea=t a5, 3T E
M3 F e WesT=t Jet 95 Aad
P(ENF)=P(E) P(F)

feust

1. Twea=t E 3 F»mfaxz (dependent) afde gf| #ae o wme st g=
o9 P(EmF)iP(E).P(F)ﬁ'I

2. - WEE W= I Wun {9 fasast weater & fegag gaH Uerderd |
‘e wesTe € ufgeaT ‘wesTet €t AgTesT € gu fET JiSt aret 9 A fa
‘vmun fET foeast weaT=t € ufggmr ‘weas=t’ € gu fe At aret I Ifen 3¢
fewrer, wirur {39 foeast weaT=T fEg Jet <t S3HT HeT BTt &4t T ATeT I Ud
WHTE WSS S 531 HET et J < Ade 6, Hdd 99 WeET ST-HTBT T | TS
39 F ‘MAe wesTe M3 ‘viun 9 faaat wea= i &dt 35 |
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gd Haet &9, 799 © fed »ifadht nae weasT=t weeh 7s fagsT et rg=aT
39 fAga T, 3T € mrun fev fa2ast &at T Aa<t g 18%e 39 '3 Had & Jid fAeg
AI=aT @8t wmrur 39 faeast weater wedtt g5, 3T 89 miae &at T
ATEMHT I5 |
3. € §333 YHaT AT TISEE I8, 7dd 9T Wes™Ha"E M3 F B, fA8 E
ufa® Yeiar '3 F g1 yGar 3 iefug 95, wea=t E 73 F € s s wleg Je &t
HIRET, A €< YW Yd 13 A, HgT=aT P(E) 3 P(F) € IrE5e® € 9994
Je 95, fAgst e ufdass €< yuar € mug 3 TY-JY Ji3T AfeT 7, I
P(ENF) = P(E), P(F)
4. f3sweas=t A B 3 C & nae fagr A7eT § Add M3 a8 Add
P(AnB) =P(A) P(B)
P(ANC) =P(A) P(C)
P(BNC) =P(B) P(C)
w3 P(A~BAC) = P(A) P(B) P(C)
Hag §°3 fE3 &9 We- ufe foq <t ma3 He &dt get 7 37 &3t et wea=r &
e &4t fagrAeT I |
Gewae 10: feg um & R =dt Hfenr AieT I (wesT ‘Ui 3 yu3 Afunt 3 Ergren &,
SE I3 URA I YU At famz 97,8 F 3 fagfuz dier A= 3tER at wes=r E
M3 F Mae s ?

J%: At Aree g fa few y@arer@aait o I, S={1, 2, 3,4, 5, 6}

g= E={3,6}, F={2 4,6} m3 EnF={6}

; 2.1 _3_ 1,3 1
3t PE)= £=3 P(F)=2=5 "= PEN F)=¢
E3e T P(E ~ F) = P(E). P(F)

fen &g E w3 F »iA© Wes'= I5 |

Gegee 11: feafsauy (unbiased) i & € =t Hfew famm 1Ms 32 A wea ‘ufgst
8e® 3 2a Aftrr yuz Je7 w3 B weaT ‘gdt €8 3 i Aft yuz Je
TIET I5 |1WeasT=r A T B € wiae o fadiys a4 |

J%: Had A9 36 Hfad weat=et § mH- ig=t Hfewm 7 3t
18 1 18 1
P(A)===== w3 P(B)=—===
B=372 ™ PB=37
&% at P(A N B) =P (€= 8 fSg gia AftmryruzT Je)
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g= P(A) . P(B) = ===

P(A N B) =P(A) . P(B)

fen sgt A 3 B wiae Wes=T 75 |
Geraae 12: {35 fifant & Hfenm famir I s 38 EwesT* f3s fegatf3s ueyus
JeU M3 F weaT W Wed I3 yuz v »3 G wes™ fu I Tue ye YUz jer
& TaA8T U5 173 (E,F), (E,G) w3 (F,G) i< faua-fagz »ae g5 ? fauz-favs
feggg s ?
J%: YHaT e &9 AT

S={HHH, HHT, HTH, THH, HTT, THT, TTH, TTT}

FEITI, E = {HHH, TTT}, F= {HHH, HHT, HTH, THH}
KES G = {HHT, HTH, THH, HTT, THT, TTH, TTT}
&% ENF={HHH}, ENG={TTT}, Fn G={HHT, HTH, THH}
2 1 1 7
fer wet PE) = 5= 7 P(F)_g_E,P(G)_g
_1 1 _3
PENF) =5 PENG) =5, PFNG) =
111 17 7 7 7
5B PE). P(F) = 555 PE)-P@)=7 xg=> 13 PF) F>(G)_—x§=E
fer et P(E N F) = P(E) . P(F)
P(E N G) % P(E) . P(G)
KE P(F n G) # P(F) . P(G)

fen setweas=t (EM3 F) miae 76 A fqwes=r (Fm3 G) M3 (Em3 G) Mfd3 I5 |
Gergge 13: fHuad fa Add EM3 F € Mae WeasT=t 76 3T EW3 F/ wiare JEaitnt |
iw fa@fs Ev3 Fomegs, ferset PENF)= P(E).PFE) ..(1)
f9g9 133 e S5y fdga I feomume I fa E N F o3 E N F wrun 99 fasast
WesT= 96 M3 &% dF

E=(EnFUENF)
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fa@fa E N Fm3 E N F' »irun fS9 fasashit a3,
few ==t P(E)y=PENF)+P(ENF) (E'~F') S
Cu PENF)=PE)-PENF) N v F
=P(E) —-P(E).P(F) (1) =
=P(E) [1 - P(F]
=P(E) . P(F) (ENF) “gAF) (E'NF)
fen &€t E M3 F' viae wes'=t 75, o133

fen yarg feg ganfenr A AaeT J fa

(@) E w3 Fmaed
(b) E' w3 F wmaed

[T VI

Seruds 14 799 AMI BwiEae WesTer I& 3T, A AT B @9 we- uie feda € = &t
Hg=aT = 1- P(A') P(B)
J5: P(AAB S we- wefdgerder) =P(A U B)

=P(A) + P(B) - P(A n B)

=P(A) + P(B) — P(A) P(B)

=P(A) + P(B) [1-P(A)]

=P(A) + P(B).P(A)

=1- P(A") + P(B) P(A)

=1-P(A) [1-P(B)]

=1-P(A") P (B")

| mfemm13.2 |

1. #99 P(A) =g] P (B) =é M3 AMZ BHaE Wea= 95 3T P (A NB) u3Tdd |

2. 52 dfant &t e i<t fee aa3astat o fast seg T U3 de o e Ufanf e T
JI T IS T AT=ETUSTIT |

3. A3font & fed" gan o fadiye On fS9 93938 5% 9490 98 35 Agd ae a ai3
AT J 1799 {38 o€ I8 A39 997 9 3T 90 § 9 STt ALdd di3T AT d &4t 3°
»A<tad 99 foe I | e gan, fan 9 15 739 9 fagst f<9° 12 S9rm3 3 yarg
H34d 75, df feadt &t ASliaTd I SeEt Ag=aT U3 ad |




10.

11.

12.

13.
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fea faquy fifam W3 fEa fsalty um & Hfew fapr 1Ms 58 A wesT ‘ fia 3 93

Mge” M3 B weasT ‘UH I Afenr 3 wiifer’ & gan8 e 75 | fadhue a9 fa

wes=et A M3 B MaE I8 A &4t 7

ffTuR I 1,2,3 S IAEFMI 4,5, 6T 3915 &Y Ie 75 | fen ur & Hfenr

farm 1M 38 AwesT ¢ Afenr fAng 37 Wi B weaT ¢ Afvod™ 7% Ja1 575 et

JEt I, § TG T T8 |t AMI BraE 5 ?

M5 B8 En3 F & wearet for 33t 75 7 PE) =§,p(p)=% W3 P (EF)
1_ -

=—ITATEMI FHaeEI&?

5
A3 B fed fadt wear=t fédtnt g e P(A)=%,P(AUB) =gm§P(B)
T pp NS USTIT Aad (i) wes=r mun f9 fagazstit o5 (i) wes=t
WMEE TS |
He 38 A W3 Boae wea=r 36 M3 P(A)=0.3 W3 P(B)=0.4. 7,37

(i) P (A B) (i) P (AU B)

(i) P(AB) (iv) P(B|A) usrag|
Rt Tet weaTet A wi B fo frdort 0, B P(A) =%, P (B) = % w3 P(A

N B)= % 3t P(Aésdt M3 Béaat) usTaqd |
Vs B8 A B fod fedhor weaet 0 f P(A) = % w3 P(B) = é -

P(ASadt w3 Bé&adt) =% JIdt AM3 B mae wesT=t J 7

AnI Bwae weasTet fegtt g5 fig P(A)=0.3, w2 P (B) = 0.6 37
(i) P(A™3 B) (i) P(A 3 Bixdt)

(iii) P(AF B) (iv) P(Am3 B f&5 st ot ) eriim usTag |
fea um & {35 =t Hfewr At § 3T Wfe We fea =t efa Afv™ yuz g< &t
HITRETUITHT |
o Jier fea 39 &9 fast ges demt AaeT s 13T f[Sg 10 astn3 8 &%
Jqretgs ITAFRESTUIT IS T (i) €= e 8B IS5, (i) ufast a8t I ert &%
J (iii) Fg Bt I et 55 J |
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14. Egymmiferrd Ana Bmﬁmmﬁsméﬁ@%ﬁ?m%n@%
IS | 79T €2, a1 &7% ANTIIT I% 9% €1 a IR Jde I8, 3T HIT=ST U3T a4 fa:
(i) mifr 3% J<att|
(i) Euorfes a=sfeg fEa g gaar|
15. 3w < 52 ufawmt &t fidq ¢t Jet gt fes” fvq U3 §393idt as dfemr aer 3
J& fodtnt < faost o3t feg weas=™ EW3 Fuae J?
(i) E: ‘dfer Ifemmdsrganer i
F : ‘afemr Jfemr 03T fear J |
(i) E: ‘dfemr Ifemrdsras darerd|
F : ‘dfenr dfemm dgrgena I |
(i) E : ‘afenr Jfowr Usrgema Af Sam T |
F : ‘dfemr Jfemm UgT SamM AT Ir& ™ J |
16. f&a Ines &9 60% fefenrmagt fdet T, 40% »igadt @7 w3 20% < A= &
g UFe 75 | e fefenradt § §393tet 5% gfemr Arer |
(a) Ag=sTuzTaq fa €T & 3t fiet M3 & dt vigewt e-mygg uge J |
(b) warg € fdet ermuarg uger I 3+ ERe viagw T vyg9 S ugs Tt de &t
AI=aTU3T T |
(c) #ad GU »igrgwt T viygrg uger 7 3T G fdet v muwe St ugs =T, I
STHIESTUITIT |
17. a3 Ut e feq 73 Hfenm ater I 3T 93 UR 3 fArs M At yug <
@t AoreaT I6 (B &g at T ?

1 1 1
(A) 0 ®) 3 © 1 (0) 5

18. Tuwes=r A W3 B & »un f<e nmme Ifde gs, 799
(A) AmT Bwun f¥g fagasias  (B)P(A'B') = [1-P(A)][1-P(B)]
(C) P(A) = P(B) (D)P(A) +P(B) =1

13.5 ¥6a-YHW (Bayes' Theorem)

SN NN (VAN

Ho BB faee8d M3 |l A3 T Is 18T |19 2 AiRe w3 3 &8 dieds 188 lIfeg
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4 reem3 5 T dre s Ifan Fq 88 S5 fea are gzastat s aet Aret 7 Imnt far
%waana—erwwmwﬁr@(ﬁm@ﬁwn e ey
YR IaT (He 38 Aee) T g dee St Ag=sT =1 U3Tdd A JF | 39 Reet fEg mint fam
YTH 39T €1 diE e € Ag™=aT U3TJd AaE I, 7ad Ag fe3Tdfenr 3= fa dre faos &8
fEg aet aret T | ug ot wit fem 9fs &t igesTuzT g9 Aae I fa dre fam um &8 (s
G §3411) fE5 J=t aret I Agd g Jet aEt e eTdaT U3t J ? feg it &3 I € gae
o B%< Ag=sT U3T J9at T A fa fene gmie 9T o8t wesT €T Ag u3T I | yfig
IfEIIT S T6H & @B ATTTETUIT I35 ©F ANTHT €7 9% ITHI3 AgT=sT @ ferans
gt FI3T T 1 8UaT T 39 §UA Wi &7 3 Arfen AT I fAgsT Gust e 3 € e
1763 €. fe9 ygarfaa Tt At | 5oa € 86 W3 A3 3 Ufost wi feg ufggmm wig o
HEHT &Sttt 3 fewrgag | i
13.5.1 ffq <&art AHJ €7 fes™H& (Partition of a sample space)
WeE= E,E, ... E, € AHT § S&dlt AMT S &7 fegrs wantfenT AteT I Adq:
@ « NE=0.i%/ij=1,23 .n
(b) E,UE, U..UE=Sm3
(c) P(E)>0,38F i=1,2,..,nBe T2
ex Aget {39, wea™=tE L E,, ... E 253t AyT S € fegms § Tan@ et 95 Aag
€v dfant @ 393 JTHTA3 I, A3t 96 M3 BuaT &t Ag<aT Ji9-fARd 05 |
Segde € 39 3, Al Fue ot fa I et weasT E w3 BFET Uga weaT E' Taai AT
Serfegms g5 fa@fa ENE' =¢m3 EUE' =S.
T&-3y f¥37 13.3, 3 0wt st 3 Ufu3 g9 Ao g fa Agd E w3 F fan <&t
AT S, €IS det € wea= 95,3 {ENFENF} AT Eevfifa fegms J |
T {EE"F,ENF EnF} Amg E U F & &7 fegms T M3 A9
{ENF,ENFE NFE nF} Ayds afg S e i fegas
I WAt HUTs AgT=sT & yiw § i aatar |

13.5.2 AYda HI=ET il YHW (Theorem of Total Probability)
HeBG {E , E,....E } Saama S, v fea fegrs I m3 He 88 fas seq weaT E, E,
...E S Hg=aTdig-ea I 1ME 88 A=adl o € Aas kT weaTd,

P(A) =P(E,) P(AE,) + P(E,) P(AE,) + ... + P(E) P(AE)
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= iP(E_/)P(A| E))

Gust fégrdfewrdfa ELE,, ... E,fastmw Serfeafesma T (f939l34) fem
e,

S=E,UE,U..VUE ..(1)
w3 EENE=0Vi#jij=12 ..,n
A& U3 J fa fam west A, gt
A=ANS E, E,
=An(E,UE,..E) fg3913.4

=(AnE)UANE)U.UANE)

SEIANE, M3 ANE, qHEd AHTTE w3 E € umya 95 fAE i # /3, sEt
-3 Is fe et i#j, i,j=1,2...,n®d ANEMI ANE, S e-a=3 T5|
fem wet P(A) =P[ANE)U(ANE)U...Uu(ANE)]

=P(ANE)+P(ANE)+..+P(ANE)
g P(ANE)=P(E)PAE) fagfa P (E)=0Vi=12,..,n
AgeaT e JIeT fau Iat wiAt Aree of fa
few met P(A) = P(El) P(A|E1) + P(Ez) P(A|E2) + ...+ P(En) P(A|En)
At P(A) = X .P(E,)P(A|E))

=1

Gergges 15: fan femast & fea fsanrs arara @7 &9 fan T 19338 J< & AgresT
0.65 J1TFIH ET IS T M3 IZTIH J< € 7831 {79 feane amad € AHT migH™g yar
J ehiges=t guera: 0-80 #3 0-32 95 I f&aHT™ JTaH AN mgH™d YarJ< & AgreaT
U3Taq |

7% He 88 fq fagHe o e Al nigHg yarder St weasT § An3 T33% de ©F
weaT § B adt fafunm Arer T I P(A) UST d9sT I IS U3 J fa
P(B) = 0.65, P(¥33% &dt) = P(B') = 1 — P(B) = 1 — 0.65 = 0.35
P(A|B) = 0.32, P(A | B') = 0.80
fafa wes= B 3 B’ A'd AHY T feg@s J fenset AYds AgT=aT yiw arat
=P(B) . P(A | B) + P(B') P(A | B
=0.65x0.32+0.35%x0.8
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=0.208 +0.28 =0.488
fen Bet faaHTe a9 AN Me e Yar 9< ©f AgreaT 0-488 T |
< WAl 0w -YHY € J96 feutar ma fend g gatar |
SH-YHW (Bayes' Theorem) HIJ E , E, ..., E 343t wea=t 75 fAust fa &t
AT S € fegres eTfaare agett g 9= E, E, ..., E, Afenr fSe g3 56 m3
E,UE,U,.., UE =SI "3 ATt weaT J famet Ag=arde-fga 7, 3t

P(E,)P(AIE)

P(EJA) = i=1,2,3, .1

ZH:P(E_/)P(A| E))
@B'LTB:‘F:H’?:_;LBT%W
P(ANE))

P(A)

_ PE)PAIE)
- PA

PEIA) =
(Feg=sTE g fami 3°)

P(E,)P(AIE)

ZH:P(E_/)P(A|E_/)

(Fygs Ag=aTe fami )

feust som-yiw € ferdws <9 ot faut ree=st =gst Aet d: wes=r E ,E,, ... E,
& ufgagsusT (hypotheses) afde T5 |
P(E,) & ufsasusT E €t yg=as €t Ag=aT (a priori)afde 35 | 9HII AT=aT
P(E,A) & ufsasusT E. €t 8°3gams €1 (a posteriori) #a=aT afde 75 |

TOH-YHW § It ST A= v HI9 < faur Ater J | fa@fa E, a9t miw Sefea
fegs = fsonre qoe 95 fen Bet wea=t E. &9 ffa mi* S feq »3 a=8
fea It weet T (3= E, &9 d=5 fea ot wear weet I m3 ffa 3 Fuadt wfez T
AaEt 75) fen et €3 fesTaga wg faw v E, (3= fda age) et Aeear fiderd
e fa wear A Trwfes Jer feardfenm 31

THH-YNH & Y-y 83T fS9 93 Tard | fegsT iS5 a3 § Jo-fadint Gergast
feg mme stz fapur T |
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S NN

Sogde 16: € 8F ImT |l 63051 §F 1S9 3 s8I 4 I8 arergs Ae fa
8% |1 fE95 s® w3 6 ITBTaret o5 | fan ffq 88 &9 939319t o7& e gre o=t
et fagst fa sw darat g | fer siw et St AgeaT J fa fegare 88 || fEg dgtaret 3 ?

. 1
3 PE) =P(E) = 5
AN N . o e . 3
a8dt  P(AE) :P(mlh?wame:‘rm?m):7
-~ Y [ o . 9] 5
w3 P(AEE, =P@E% Il f&&° wame’rm?aea-r):ﬁ

I8 || feg dedes et o<, Ae fafeougrd faGusws daret T =
P(E,IA),

1 5
N P(EL)P(A|E,) 2’y
HHH-YNH I :P(E |A) = B 68
I A = e )P AIE)+PEPAIE,) “1 3 1 5 68
2 7 2 11

Sergae 17: s fEa fag gam |, 11 W3 |11 fE3 75 fAg goa feu & fHa 9 19aw | f<5
v< fAa A& € 95, 9w || feg €< i giet € 96 w3 gan ||| &9 ffa id w3 fea gt
o fifaT 7 | ¥ fears 939314t 7% ffq ganT geer I wid B S5 s393dtat & fea
fHardeeT I 199 fiar Aa €74, 3t fer s et ot igesT J fa gan fRg gar fRar S As
arJ?

J% : e B9 E, E, 3 E, g9 g |, I3 1l € S § ean@e 75 |

. 1
It PE,) =P(E) =P(E) = 3
5% It s B8 AwesT ‘dfenr Ifemm g Ag &7 3’ § sam@e J |

.=

3t P(AEE,) =P(ga® | 3'Aa e fiardwen) = - =1

.=

2
2
P(AE,) =P(gan Il 3' A& e ffardeer) =0

.=

- .y 1
P(AE,) = P(gar 1ll 3" A& e fHaT aeaT) = >
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g< gan feg gar fAaT S RS e de et Ag=aT
= dfen fHaT A& @ g9an | fe9 Je et AgresT

=P(E,|A)
PEE |A) = P(E,)P(AE,)
! P(E,)PAIE,)+P(E,)P(AIE,) +P(E;)P (AIE;)
1
_ 5)(1 :g
—><1+1><0+1><1 3
3 3 3 2

Gergge 18: s &G fa fea #g. et . yifimie & femem dersTJo fod yaa J |
g wret. S ufafee fenagtmt set yifame 90% usT Sare ffg Wz 10% u3TaT
BIE T WATJ AT, et . 3 mime fera3tort wet, Uifvme 99% Aot usTsar@er I
FE g, wet. St Editfee EReT I AT fa 1% Yivne fenmastyt set Untee ERe J |
e 23t 7o Aftodr far 97 0.1% feraat ma . nret. <t . e faag us, fee fiea fenast
g3a3tet gfenm arer I M3 Erer Yive 13 7 3 3a1 fefamrat #ig. nret. <t er
faaTg ereT T | at Ag=arT J fa €7 fona3t wins fSg g vmet. &t e faga 3 ?
7% W& 8 fa E g fomast @ nvms fSg wg . met. <t Uatee e StwesTamd A
feraat € #e. mret. . yifuwie ST Usitee 9< & wesT I »t P(EJA) U3T 98T J |
5% 3t E' g fonast & g mret. <t Ueflee 37 de et weasT & gamger J |
Aure 39 3 {E, E'} A& Aftmir fS9 Ard fena3dtnt € 2ot myg e fea fesrs
ﬁ'l)‘-l"'g‘i_u'@ﬁ':

0.1
= 0.1% =—==0.001
P(E) =0.1% =150

P(E") =1 - P (E) = 0.999
P(A|E) = P (fena3t eriifume feg wa. vmet . &t Uritee mr@er 7e fa mins i<

EN - N 9
g mret. & Ustee ) = 90% = E=0.9
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73 P(AE) = P (fera3t e yiftme fee wig. et &t Usitee mrEer ve fa mims feg
g, wret. 2. Ustee 391 T) =1%=0.01

< §UH-YHH Iat

P(E)P(A|E)

PEA = 5 e P@AB +PEIPAE)

0.001x0.9 90
0.001x0.9+0.999x0.01 1089
fen w2t fea g3a3tat 5® g 9T fonast & vins feg wig wiet. &t Udffee I &t
AT, 7e fa uzT I fa §n e Yifirne Uste= §,0.083 T |
Gergas 19: i §Bc g=fT € Toua fE9 HilsT A, B W3 C I% Ue=d €T gHed
25%, 35% M3 40% §B< g G T 5 | fegasT HitsT € Uereg evgHed 5] 4] W3 2
YSH3 9T HaTE J | §FeT € % Uured S48 ffq §%e §393te a7% dfenrAer g ms
Yoy urfemm AteT T | feret ot AgmeaT 7 fa €9 §%e vits B ardt serfemT Jfenr 3 ?
J5: V& 88 fawes=t B, B,, B, 35 fay 39795 :
B, : ¥8¢ WHle ATt sfenr T
B, : ¥8¢ WHls B ardt sfenm I |
B, : ¥8¢ WHls C ardt sfemm 3|
Ae 39 weas=t B, B, B, nrun ST fa=ast i3 ufsuse g5 11w 86 fa wear
E 3o fout 397 J: Eg®ecyarg T |
wesT E, wesT=t B, AT B, A B, a3 wfeg Jet JIfdara:
P(B,) = 25% = 0.25, P (B,) =0.35 %3 P(B,) = 0.40
€9 P(E[B,) =8®< ya¥ I € Ag=aTAe fegrd< fa @owits B ot sfenrJ
=5% =0.05
feRrggt  P(E/B,) = 0.04, P(E|B,) = 0.02
FAH-YHT It

=0.083 (Harsan)

P(B,) P(E[B,)
P(B,)P (E[B,) +P(B,) P(E|B,) +P (B;) P(E+|B;)

P(B,[E)

0.35x0.04 - 0.0140 28
0.25x0.05+0.35%x0.04 + 0.40x0.02  0.0345 69
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Gergge 20: T 3ded & fEq 39t § Sy w8 T |ufowt & Imafent 3 feguzTd fa
N oo - e . 311 52
SFe o, IR AT Ag<d A fan 9 @96 3 miEe e Agr=esT=t E,E,E”Bga?ﬂ
Aa9 89 w5, ¥F A Aged 3 MEET I 3T BRT €9 5% mET €t AigesT=t gHeEd
11 1
,”'3—3'5 yg fan e sus I MET I Eng S st et JIAag G ea 5%

4’3" 12

nfenm, 3T AT ¢85 I BT ST HT=aTUST AT |

7% Ve #8 fa ‘Faeg € Jait dw Sg s M S weaT EJ I7dd Ided € &, ¥,
@#ﬁﬁﬁwmﬁw@zWWWT T,T,n3 T,3e3

P(T) = = P(T)=g P(T) =" P(T,)=2 )
P(E[T,) = 5Tareq @éﬁd'dﬁ'w@zz}'@amméﬁ@w :%

fewr yamg I°(E|'|'2)‘1 P(E|T3)—i PE[T,) =0, fa€fa Jg=os gdt mri@= 3 8w
€9 &It J=at |
< §UH-YHH Iat
P(T |E) = 379¢d adt €9 578 w8 I ¢& ardt mri@e €t Ag=aT
_ P(T,)P(EIT)
P(T,) P (E[T,) +P(T,) P(E|T,) +P(T;) P(E[T;)+P(T,)P (EIT,)
3 1
104 3 120 1
L1 "0 18 2
10 12

_ 1
-3 11 1
10 4 5 3
mwww%al
Gegge 21: fea foragtegdusTIfagu 4 f<9'3 satRioEser T 18T fRfaum
Heer I w3 eReTd fa e =rat fAfenr 6 T feret AigTesTuzTad fa ue 3w =t
Aftpm wiAs 96 T
7% Me &g fa E| ‘femastawt ur & He d feu ene et fa @r 3B ==t At 6
T Ewest I IMs B8 far S | uh 3 Aftnm 6 »r@e StweaT w3 S, um 3 Afur 6 st
T T WesTJ|

P(S,) = Aftnr 6 wE &t weaT &t Ag=aT = 5

+g><0
5
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(6]

P(S,) = Afnr 6 »r@= &t weaT €t AgeaT = —

P(ES,) = fenaat ot feg Ewne 3 fa umw &t Afwwr 6 3 7 fa uir 3 B ==t
Hftpym niis 9 6 9 &t AT

(o3}

P(EIS,) = fena3t gt feg Ere 3 Ui 3 After 6
Ffenm nins fe9 6 &t T &t AgresT

kel e . - o 3
= forastadt Ao &7 8% E"THE"%?F=1—Z=

< §UH-YHH Iat
P(S,E) = ferast ardt feu &ne &t AeresT fa Aftm 6 I, A »ms fRT 6

P(S)P(EIS)

_ _ 1 24
" P(S)P(EIS)+P(S,)P(EIS,) B

1.3

6 4 1 243
1 35 1 8 8 8
—X—X—X —

6 4 6 4

for et BEYEt AgvesT g 3

| mfgmm 13 .3 |
1. ffaawnfegb T MI 5 T IreT I | §333TH 578 fea Jie aer Aret J,

fHAET 99T 8¢ 99& & Iie 297" I8H g Ut fa3t Aiet I 192 JE Jarehdt 2 39
dret gen f&g ur 3 Aietit gs w3 aon feg feg dre det Aiet J Igdtare
St ® e et Ag=aTat 9 ?

2. e eB el s5n3 4 I8t IreTI6 M3 88 ST 2 % w3 6 I8t aret
I | €< 8fent SS9 foa § 9393t 5% gfenm Aer g mz Er eSS fa sre d<t
Atel I fAgst fa 3 J I fen ofs & at AgesT J fa dre ufo® &8 fR9 et 7

3. feguzrad fa fda arsn & fefernmadtnt fS9° 60% Ines fE9 afde a5 M3 40%
Ines fE9 ot afde Ua | ufost € Asst € 53t Afes aoe 06 fa dnes feg afae
T fefenraghyt fS9° 30% 3 Ires ST aTafde =8 fefenragint f<9 20%
fefenragtnt & Adads fenr A & vz e aaa © féa fefenrast § e3atet
&% gfenr farrm M3 feg urfenr famim fa €& A-ads Hfgnm T | fer ofs <t &t
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o< J fa €1 fefenmaat dres feg sfas = a ?

fea ggdfeamit yrs ev 830 e< < fea fefenragt At St yrs e €' 3g Areer
ﬁ#@a@w@?%ﬁzs@ﬁ@n@@“—ﬁme’rw% I I nierar
HIrge St AgT=aT i?ers@ﬁM@m@@%ae*Mm@z

I QT e A | 33 et e e fy 3¢ fefenad)
yHs T 639 Areer I Aad feguzr I fa §nd rat €39 fesr g ?

form ¥ 3o € At Wifire et ys € 779 99% mAgeTa I, AT mAs e et 6w
Jar 33 T 1UT 0.5% =7t fan aid fenadt € ¥y & 719 J96 3 Yiftnie s
falge féer J g= fenast & Ta1 3 \Wifas Erer 7 1799 fan naret f&g 0-1% &ar
€W 391 3 uifa3 o5 3Tt Agr=aT I fa aet §393THT 5% gfemT JfemT famaat
€7 391 3 W33 =9 Aad EnT ye e 7 fRg Sfmrater d fa Enég feg qara ?
f3s e o3 95 1fed fifa € &<y 93 § 1gvr fiar taust S fam e 93 75%
Tt @t I iz FA e faaliy T | {3t fE9 fea fifar g393tst 7% gfen
farT vz Qe fapu | Fag e 3 feg m@er 3, 3Tt AgresT I fa Gu <
IEEARC

fea ghir quat 2000 Ages g&at, 4000 a9 g@at W3 6000 eda e g Jaet
T IgowesTer et Agrester gHera: 0-01] 0-03 w2 0-15 T 1ghraee @ =&
gt f&9 ffq gowesT 3 Ulfaz 7 Aer I 1 87 fenast € Ageg o7&d d< €
AI=aTal J?

feq arauTs fe9 A3 B HHtST 35 1Ufa® feeds 3 ugr&aeT J fa & Ueeg ar
60% HHIS AW 40% HETS B It Uer a3t At T | fer 3 fewer wits Aer
2% M3 HHtE BET1% UeT=g Y9 J | Hdd 4 & UeT=Td &F fed ©d g7 f&mr Jiar
I3 B E9 3§33 &% A<t ITEt THg HeE I, 3T feneng € wils At
g Je et AgesTd?

T B ST fsan & foena Has <9 ue yu3 95 et Haed e o | ufast
w3 gt ¢8t € fige et Agea=t gu=ad 0-6 »3 04 g5 | few 3 fewrer Aag
ufgst 25t fiset I 3t fea s @3ue € Hg Je St AgresT (-7 Im3 Adg et &8t
fig<t I 3 fen ofs e Aas AgTesT 0-3 T | fer et AgTesT 3T ad fa ser @3ue
TH €% It Hg 3T famr I |

Vo 8 fa aet g3t fida umr Heet 7 I7a9 §rg 5 A 6 Afemm yuz gt 33769
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11.

12.

13.

14.

Jfes

fea fifar f3= =t Geaet Iz foz e et faest ST aget T IFaa €ng 1] 2]
3 At 4 Afeprr yruz 31 I 3780 fEa e mrEer ffg =t Gewat g m3 feo s
goet I fa Gnz fog At fem@er J 17499 €né sta g feg yuz Jer g, 3T Ene
gat@e B un3 1] 2] 3 A 4 S Ag=sTata?

ffa faarar € % A, B W3 C HHlE MTUded 75 | Ufg®T mruded A 1% yarg
AaTEt §78ET T W3 MTUded B M3 C gH=d 5% MT 7% Y™ MdIat s8¢
IS 190 ' AT 50% AHTBIr@er I, Ba® ANT a7 30% M3 C I & AHT a7 20%
FArgEr T | 7ad fEa yarg maret seet I 3T ERG ATt saGe e gresTat I ?
52 Ufant &t 3w <t 3idt f&9° ffa ugra=a Aer J | gat Ufant feg 8 U ae Aie
I fAgs ffe e os Igew U3 € fedc e T St at Ag=aTd?

A It HY §8c <t AgT=aT g J ¥ fAar Qe aerd g A ererd fa feg
wfenT I | As fEg feg e at Ag=aT -

A = B) = c) = D) =

(A) 5 (B) > ©) 5 (D) 5

799 AnZ B fed fadht wes=rgs fa Ac BI w3 P(B) =0T 3t It fafumt
f&5 fagststa T

_P(B)
(A) P(A|B)= P (A) (B) P(AB) < P(A)
(C) P(AIB) > P(A) (D) fegst & &t st

13.6 §39319 9% 3 fegst € Hg™=5T €3 (Random Variables and its Probability
Distribution)

AT, §39318 yuar 3 €UaT € 591 AHT € 9239 ¥ ufast 9t ity g9 o7,

fegst y@ar iS5 aet fSg mit y a3t & go=s &dt At ug fegst s3tfart 55
afug Aftmr € 99=Ts At
WS Y yHar M3 Bust € a3t 3 fega adie |

(i) € ufmt§ Hee © yadr ffg it €2 Ut 3 wrehnit Afinrer € A € sues

(i)
(i)

J HIE T

fea fifa & 50 =at Gewe 3 At et fe 3t &t fare 3t e T Aaet 7 |

20 sagw e fea ga 3 fAn <9 6 waw 95, 4 =agmt§ (ffa € ame fT)
dee € yiarfea ast gat 4 Sngwt € 254t miu fee yvag er3t et farest f<s
I Aot J &7 fq ygrg M3 Sid @A € fan v g &9 |
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€3 &3t feg’ g9a yHar fRe 3 3% fEq fsw I fags gda a3tw € Fas T
TH3fea Aftnr féer I | yGaT € 90d 5310 et feg ensfed Aftr S St T Aaet 7 1 fem
wet feg fq 9% T 157 9t fen e Ws fa 83931 yGiar € a3t 3 fagga aeer 9, fem
wel feng 939319 9% JfJe 06 I RT3 B EMH 3T X I eI LT Ia |

Hag gHT feq €% et ufggmr & wre aete 3T Y3 aafar fa »As fee fea §3a3te
% X, e%& ger J farer yi3 (domain) 393t Y@ar € 3t e AMg (AT =ait
AHY) derJ | T 93931 9% d et & Tw3fed He & Aaer I, fen set fener Afoy’3
(codomain) =w3fea Afimret AT Je7 7 | for et fiq 9393t 95 & Io7 et 397
yfgg 3 a9 Hae I7 |
ufggmT 4. fEq 9393t 95 QU ess dJerd faner Y3 fan 393ty ydiar e 253t iHa
gerJ|
Seruae B8, g fea fid & € =at @ [f9 8@ 7e € yGiar 3 feea a7 | ferm y@ar
T &N AN 3

S={HH, HT, TH, TT}

Aag X, yu3 937 &t fareat & gan@er g 3+ X Eq 43939 9% I M3 0d 53

wet ferer s 3o fest 3g7 e fapnr 3
X (HH) =2, X (HT) =1, X (TH) =1, X (TT) =0.

e 7t ==ait T 3 e 3* Tu §393Te 95 ufeg iz 913 77 Ao U5 | 8T gde &et
H& B8 fa Y] faaitAdT S € 939 53t &et i3t &t fare st 3 det St faresterwer §
Erieusecubilc

Y(HH)=2,YHT)=0,Y(TH)=0,Y(TT) =-2.

ferget fassat Mo S fRe X M3 Y Sy §333lg gs ufae 3 a3 75 |
Gergae 22 foa fenast e fia & f3s =dt Ge=e et g uger 7 193 € wend adt
O fenast & g9a fez B2t 2 féer I w3 99d Ue &et §u femast mima & 1.50 féer
J 145 86§ X fenra3t gt A3t aret Af grat aret ot eanger 7 | wen g fa X &
39319 9% I W3 feng Yuar € <5491t AHT € €86 € gU f[eg ean@ |
J%: X feg faat Aftenr I famer s fan g393Te ytiar € a3t 3 ufsg s 7 1 fem
et X fEq §393tg a5 7|

I YT €T &N AHT 3¢

S = {HHH, HHT, HTH, THH, HTT, THT, TTH, TTT}
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X (HHH) =Rs (2x 3) = Rs 6

X (HHT) = X (HTH) = X (THH) = Rs (2x 2 — 1 x 1.50) = Rs 2.50

X (HTT) =X (THT) =X (TTH) = Rs (1x2—2x 1.50)= —Rel
w3 X (TTT)=-Rs (3x 1.50) = — Rs 4.50

feq faerava g, fusmat & aat & sam@er T I fen set Taat MU T T 33 &

Bt X e 7 893 & 7, fen 5 X a9t mye 3 o7 e85 I famer ferga 9
{-1, 2.50, — 4.50, 6}
Gegge 23. T EB fE92 ARev3 1 & Ied 1939319 &% fTa Fiea=! et ma
OFeTIaT ST I9E € e guaT 88 &g ur faaT fapur | feg garar stz fapur 1799 X &
Tdt dee fSo Aew3T et faest § wam@erJ, 3t X vrfewas e, fia ffa s aie
TTAEST AeB 3T Hfemm aieT J |
7% He 8 fa 88 feg vt gret § W, W, 5% TIHE T IS |

3t T&IMT AHT 3

S={w, wy, w w,, w, Wy, W, Wy, W T, W, B T W, FW,, T T}
g< X =& gret at fare3t = Aes3T et farest
fer gt X ({w, w}) =X {w, w,}) =X {w, w,}) =X {w,w}) =0
X {wy, ) =X {w, ) =X {rw}) =X {rw,}) = 1m3 X ({rr}) =2
for gdt X g a393g9sdfAusT 0, 1A 2 & AgeT J |

13.6.1 e 939319 9& € Ag<&T &F (Probability distribution of a random variable)
m@ enufe=Tat f, £, ... f,, 3 ffa ufesa & fed fagryag gae € ydar3 fesg adte
fa 39« ufgemg & S mi-Ag=t 3= s 88 faufssa f,, f, ../, fRe = 3,4, 3,
2,5,4,3,6,4, 549935 |
g feq ufgera & g=te M3 G Haa et fare3t § S aad, X 3 Taneie Ine 393
X fEq §393Te 95 T fand I feut 3gt ufggrfag 3T Ar AaeT O
X(f) =3, X(£,) = 4, X(£,) =3, X(f,) =2, X(f) =5,
X(f,) =4, X(f;) =3, X(f,) = 6, X(f;) =4, X(f,,) =5
fem®et 2] 3] 4] 5] 6 fST X aSt S HE & AT T |
e X TS 2 J=arAe fa ufeem £, & gfenrfamr 3= | X e s 3T Aaerd /e
fir £y f; T8 Tt ufg=mg & gl A= 1 fem yag
X=4,7¢ufg=g f, [, A f, & e a=<ar|
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X =5, 7ad ufgea £ At [, & gfemm Ar=ar|
wI X =6, 7¢ ufgemg f, & gfenr a<ar|
fa@fa »irt Vifenm 3 fa g9a ufeera e gfenm Are mi-Ag=t 5, fen set ufaea £, &
ge A'e @ AgT=aT % JI
for et X o ifE 2 T ot Agrear %fﬂ
WM@#P(X:Z):%
a&dt £, f, 7 f 3 fan S ffa ufseg § gae et Ag=ar

3 .
P W fu D) = 1591

fen ®€t X @7 v 3 Je € g=aT = %

At o T P (X =3) = -

fer yama »irt yuz g9 ot fa
3 2

P(X=4) =P(;, o Jo}) =1 PX =9) =P /1)) =7

- 1
M3 P(X=6)=P{f}) =10
few yarg e fe=gs fan ST 93931 95 © 5% OHet Ao AgeaT=t & fafumr

ATy, S ¥393T g8 XSt igesT g afde o5 |
fenmua 39 3 fea §393ta 9% X S AgesT 23 § J5 vt yag ufsgrhag stsrArAaeT J |
ufggmr 5: fan §393tg 98 X & AgesT &3 Aftrret &t 95 fadt yest e g

X : X, , X,

P(X) : )22 p, p,

X

frg pi>ovzpi:1,i=l, 2,..n

i=1
Tr3fea Aftp=t x , x,, .. x, §33ST B X TAIINBIE M p,(i=12, ...n)
IS I X THS x, I€ S HF=ET I =P (X=x) = p,

[2yST | AaT x, §3931 98 X, AT IS HB J 3T 86 X =x, T&INTAHT &

gy fegnt set A AT deT J Ifen &e X €7 x W& B< &t Ag=aT oimT dio-fieq g<t
JI= P(X=x)#0JI
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&I X AT A= H &' B f54iT AT & A9 fig ofvs § 7e 95 | fer st famr
A9TesT <3 BEt AT AgeaT=r v Az feg Jergrfaer J |
Sergge 24 IWE 52 Ufawt &t fieq @2t 3ot ai<t fee @ U3 ffq 3° gmie e usd
AEUZ dda o F ITe | fefamt &t farest &t AigeasT S usTaq |
7% : fefet &t fare3t g s3aste 95 7 I feng vt X 3 ean@e of Ime 393 Xer
& 0, 1, A 2 T | fagfa ifawt ysa rarfuz a9a ofewmT fapnr I fer set &< Ufawt ar
TESTHETE WIET T |
fem ®€t  P(X = 0) = P(fear aat w3 fear at)
= P(f&ar &at') x P (fear aat)
_ 48,48 14
52 52 169
w3 P(X = 1) = P (feamm3 fear aqt At fear st w3 fear)
=P (fgam) . P(fgar &at) + P (fgar =at ) . P (fgam)
_ 4,488 4 2
52 52 52 52 169
w3 P(X = 2) = P (f&am w3 f&am) = P(fgam) x P (fgam)

_4. 41
52 52 169
fen et FStEtigeaTes T

X 0 1 2

144 24 1
169 | 169 | 169
Sergae 25. ufint & ffa A3 & 3= =t Hfen fapur, €t Uit 3 e Afumr =&
7= (doublets) EtAg=aTEF USTAT |

5 Ve 88 fa X &gt urfimt 3 fEq ffen =& Afant €t farest § gam@er g |
(1,1),(2,2), (3,3), (4,4), (5,5),3 (6,6) fed fAd A= A=z I& |

P(X)

AE3d3,XTHS0,1,2, A 371
9] —- ~ =N~ o 6
fea feg fag Az @ B St Ag=ar =36

feafeg fAo A e v et AgeaT =1

cnlm
cp
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e o 5 5 5 125
P(X = 0)—P(“f8a'ﬂfwwwn?”mﬂ')—g 56" 216
P(X = 1) =P (‘fEa Aftmr @ 837 w3 € “fed Aftmr oo a3 3 fast” &)

15551555 1 1 5° 75

= = X—=X—+—=—X=—X—+—X=—X— =3| =X— |=——
6 6 6 6 6 6 6 6 6 6 62) 216

P(X = 2) = P (€ fEa Aftnr =& 73 w3 fea fEa Aftpr 8 73 3 fast adt)
1 1 5 1 5 1 5 1 1

6 6 6 6 6 6 6 6 6
—3(612x%]=21—i
P(X = 3) = P (R it Ao = 737) =
ferr et X fom 3q- Gt A 2w Y
X 0 1 2 3

1
216

11
X=X —
6 6

125 75 15 1

PO 216 | 216 | 216 | 216

USIH AgEase avas

n

125 75 15 1
Z pi = + + +
i=1 216 216 216 216

_ 12547541541 216 _,
N 216 216
ferset €3 fet Aig=aT S At T |
Gemgae 26. Vs 3G fan 393t 575 g I fefenrgdt femr fEg ugs T uie X5
TIHE ATE U6 | X THS x B St AgesT 96 fout 397 J, e  fea emsfea Afipnr 3

01 #d x=0
T x=1 72

k(5—x) I x=37 4

0 fen 3 fegrar

PX=x)=

(@) kT HBUITIS:
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(b) femai® Etat fgresTJ fa grt we-we T e uge T raes T uie uge 9 7 20—
Sueueuse g ?
I%: X&Higesr @3 Jat et

X | o 1 | 2 3
PX) | 01 | & | 2k | 2k

(@) wguzTIfy ) p=1

i=1
fem®er 01+k+2k+2k+k=1
= k=0.15
(b) PEHUF-we T u uze ) =P (X>2)
=P(X=2)+P(X=3)+P (X=4)
=2k+2k+k=5k=5x%x0.15=0.75
PEEs T W UZTT) =P (X=2)
=2k=2x0.15=0.3
PEUF T U ST T =P (X<2)
=P (X=0)+P(X=1)+P(X=2)
=01+k+2k=01+3k=0.1+3x%x0.15=0.55
13.6.2 §39319 9% € HUOH'S (Mean of a random variable)
Fet mifmitet &9 fam §393te 9% © fan gie & fea Aftr 3 sar@er &3terder g,
frg gw et fgresT @3 3 Uz a3 AT AgeT J fed fadtyt a9 Afiret, Hovms, Wgar
W3 9B J© I | for a3 L9 it Honrs 3 fegma aafar | FoH™s Jedt y=a3t & iy
fen 397 9 fa feg fam 9393te 98 © Hos A7 MiAS e § Tan@ e J |
ufggmr 6 e 88 X fq §393t9 98 J, fAme Ag=t U® x x, x, ..., x & JH=T

, T2 ¥

ISP, Py Py oo P, TE | XS, S |1, T EImE T3, e 2,0 det
i=1
J 1372 x EHONS 9% X, € A= H&T €7 9H3 Je7 J, 7€ 999 1S § Enet fas fgresT
eI AITfarr I= |
§39319 9% X € HuoHs § X &7 yg= migHs (Expectation) =t afde g5 fAn &
E (X) 3 son@e 7% | fer Bet

EX)=p :inpi =xptxp, +..+txp

=1
J9 paet f3g:
39319 98 X T HUH™S AT U< #igHs X € A9 Ag=! Hat @ Gust &f iars
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AgeseragIeTer Az der |
Gergae 27. Vs 88 fa ufimi € fea 73 § Eefenr Arerd w3 §393te 98 X| ufimnt
T Y3 Aftpret 87 73 fanm AfeT 3 1 X 87 HOHTS AT Ya< MaHs U3TJd |
J5: fen ydar e 5t miT 36 Hfsa wear=t 3 sfenr 7, fAgaT d = /7 (x, )
TgufSe fafmrmarnaer I fiEx, =1,2,3,4,5,6 M3 »,=1,2,3,4,5,6.

§333W §8 X € H& g Ut 3 yuz Aftmrererag 2] 3] 4] 5] 6] 7] 8] 9]
10] 11 &7 12 IraeT J|

1
g P(X=2)=PH(L D} =54

P(X=3)=P{(1,2), (2, 1)} =3%
P(X=4)=P{(1,3). 2.2). 3. 1} :3%
P(X=5)=P{(L4), (2,3), (3,2), 4, 1)})=§i6

P(X = 6)= P(L,5), (2,4), (3,3), (4,2), (5, 1)})=3%
P(X=7)=P({(1,6), (2.5), (3,4). (4,3),(5,2), (6, 1)})=3%
P(X =8) = P{(2,6), (3,5), (4,4), (5,3), (6, 2)})=3%
P(X=9)=P({(3,6), (4,5), (5.4), (6'3)})=§ie

P(X =10) =P({(4, 6), (5,5), (6, 4)}):3%

P(X=11) =P{(5, 6), (6, 5)})=3%

1
P(X =12) = P({(6, 6) ~36

X & AgeEsTEs O
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X# x 21 3|1 41 51 6 7| 8| 9|10 1| 12

1

PX)™ 1, 35| 36| 36| 36| 36| 36| 36| 36| 36| 36| 36
! 1 2 3 4
few ==t =E(X) = D =2X—+3x—+4x—+5x—
n=EX) ,Zzllx’p’ “36 36 36 " 36

+6 ><£+7 ><£+8>< i +9><i+10><i+11><£+12><i
6 36 36 36 36 36 36

_ 2+6+12+20+30+42+40+36+30+22+12 _7
36

fen 3gt € Uit € Hee ImrBe @ Aftmret e Ag ev s 7 3|
13.6.3 §339319 9% ©F YAI& (Variance of a random variable)

¥39319 9% €T HUH'S SR 98 © W& ST fegas g9 det pusTadt feer d 157
Tt Y-Sy AT=aT 23 78 939319 9% € HUN'S ANTS § Hae 36, fae fa Xma Y&
3o fedtit =5t feT 2w fapnr |
X

P(X)

||
[o<J I O N [l )
| w | w
wo|N |

Y -1

P(Y)

@ |

o N o
w|lw| >
|| o1
|| o

1 .2 .3 2 2
353 E(X) =1x=+2x=+3x—+4x==—=275
eI (X) =Ixgt2xgt3xgtaxg=7

- 1 2 4 1 1 22
mI E(Y)——1x§+0x§+3x§+5xg+ 6xg_§—2.75
I8 X3 Y FY-JY I& A fa §UaT € Hois s 95 feu fegsT et & fe3a=ma gu
3 Tt miArst 5% yufuzg disr A Ager 7 (f93e 13-5)A
X& YT U IS BT A §39319 I8 € W& g fige et ST e Hu et agas J |
it niasT fefarrrs f&e ufgm 3 fa »iafant i feess A fdsge ey St yres |
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P(X) P(Y)
.
3ot A
Y1 s
Ys1 |‘| Hl/s |‘| |‘|
X’ X X' — > X
o 1 2 3 4 1 0 1 2z 3 4 5 6
(i 5 (i)
fe3g913.5
fen yarg §393ty 9% © Wa' e fige & yAes 3 Hfumr ArAaeT J |
ufgemr 7. He B8 X 939310 98 J fAne ATT=T & 1, x, .x FAB AT=a=T p(x),

plx,), ..., plx) € 578 5% T |
e &8 u=E (X), XeHaus T1 X T yras var (X) 77 ¢ 2 Irdt SarrfemT Aier
I w3 o foy 3t ufggfag atgr Aaer &

o2 = Var()=3 (s~ )’ plx)

)
1

At 0 = E(X - p)’
dig-foramiet Afeprr o, = JVar (X):Ji (3= 22)* p(x,)

& 939319 9% X ¥ Had fegss (standard deviation) afde o&|
39319 9% €T YHIS UIT JI& €7 Jd HIT:
WA Aree It fa

Var() = 3051’ p(x)
= 2 (-2 ()

= 3 (62 )+ 2o plx) -3 2 ()
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= 3 (2 P+ 3 ple) =20 ()

= Zn:xizp(xi)wz—Zuz {fﬁ(@ﬁ( ip (x)=logp= ixi P(xi):|

i=1 i=1 i=1

= 3 (% p) -

2
Gl Var(X) = Z (xiz r(x,)) _[in p(xi)}
i=1 i=1l
= Var(X) = E(X?)-[E(X)’] fi'r ECXD :Zn:xfp(xi)
i=1
Gegae 28. T faaly uh & Hee 3 YUz Aftr=t €7 yAgs U3T a9 |

7% Uifime eresat o d: S={1,2,3,4,5, 6}
He 86 X, UR I =@t Afou I 137 X feg g3a3ig g dfagsT 1,2, 3,4, 5,
A 6B AIET T |

&% It P(l):P(2):P(3):P(4):P(5):P(6):%
for set X St Ag=aTssJ:

X|1|2] 3|4 5| 6
ool Ll L] L] afs
X5 6|66 6 | 6
7= EX) = 2% p(x)
i=1
:1><1+2><1+3><1+4><1+5><1+6><£=é
6 6 6 6 6 6
&% It E(X?) = NS CVE S LIV S LIVE NIV IV
6 6 6 6 6 6 6

femset  Var(X) = E (X?) — (E(X))?

_%_(2)2_%_ﬂ 3
"6 \6/) 6 36 12
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Gergge 29, 3m e 52 Ufant &t fea gdt It giet fes e U3 fEa 3 g & fagt usa
AETUZ 3 o€ 7€ I8 | IErTdT & AT 87 HOH's, TS M3 Hod feuss U3t ad |
7% He 8 fa e U3 dee ffg gemat et Aftmr § X 3 fawe o7 | X g g3aste 95
IfAgsT 0,19 2HS B AaeTJ |

o< P(X = 0) = P (3¢t gen7 &dt)
48!
_®C, 21(48-2)! 48x47 188
T%c, B2l T52x51 221
21(52-2)!
v ~ Qv . 4C14801
P(X = 1) = P (f6q gema w3 fEa geng adt) = ¢,
_ 4x48x2 32
T 52x51 221
N L ‘c, 4x3 1
"I P(X:Z):P(E'e'a'@?l"tr)=52C2==52X51=ﬁ
fen st X @t fg=aT <3 T

X 0 1 2
188 32

POO| 221 | 221 | 221
AER e ey X= E(X) = 2% P(x)
i=1
188 32 1 34

Ox—+1Ix—+2x—=—-—
221 221 221 221

&% dt E(X?) = 2% p(%) =02 (188 2, 32 2 L 36
P 221~ 221 221 221
RS Var(X) = E(X?) - [E(X)?
36 _[ 3_4]jz_ 6800
T 221 \22V  (221)?
/6800
forr Bt o = JVar(X) = =0.37 (Farar)

(221)
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| mfen 13 4 |
1. ©nfa I fout Ages @3 ST faus fea 93931y 9% &et Age 54t 95 | MueT
@379 am By |
[ xTo [1 2
Pex)| 0.4 | 04] 02

Gy [ x o [1 ]2 ] 3]4
PX)| 01 | 05| 02 |-0.1] 03

i) [ Y ]-1 o [1
P(Y)| 06| 01| 02

vy | z[3 [2 |1 [0 [
P(z)| 03 (02| 04| 01005
2. fegaen g b @M 2 TBMTITTTS | dreT §393TH &7 A GIHT I |
He B8 X Tt arer § eanr@erd | X€ ATt g at 95 7T X 93939 9% J 7
3. Ma®E X o3t et fare3t w3 uet &t fare St ffe nize & sanr@er 9, ae fEa fia
&6 Tt GefeomrmAer T IXT AT IS atIs ?
4. J5 fafrratAg=s Tz U3 a9 :
(i) fea fia &t e Gewtfeg fostdfasst
(i) f3= fifont & & =t @eoe 3 uet &t fareat
(iii) fea fifa &t 99 et feu fost et fasat
5. fefqymr& =dt Hee 3 Ae® 3T ot AfvdT et Ag=aT @3 U3T a4 fHE
(i) M F I3t Afenm & e Aes3T HiemT famr T |
(i) " 3 Afer 6 mrEer & Ae® 3T HfemT fapr T |
6. 30 smute feaeafed, i< 6 v uaw 5| 4 swg v Rfa sy §393idt &8
9919 UET AU J13T AT AieT J | 4™y 989 af AfpdT &t AgTeaT <3 U374 |
7. f&a a9 fsaty T, fan fee feg = St fgesT ue mBe 3 f3aret T 19a9
fiar e =gt Gefowr AT I St uer St faret St fgesr sz Uz a9 |




10.
11.

12.

13.

14.

15.

e 589
feq 93931998 X St ig=arez o fear famr I |
X 0 1(2]3|14]|5]| 6 7
POX)| O | & |2k | 2k | 3k | k? |2k?| Tk*+k

U3Tdq |
() k (i) P(X<3) (i) P(X>6)  (iv) PO<X<3)
fea §393tg 9% X Ag=aTe%s P(x) 96 ya9 J, fig kaet Aftt &
k 799 x=0
P(x)= 2k1,‘-\|3(‘d’x=1
3k Had x=2
0 #dd

(@) ke HBUITAT|

(b) P(X<2), P(X<2),P(X>2)u3raq|

fea faaty fid & f3= =t Gese 3 yuzs I3t et Aftmr e HoHs u3T & d |

€ Uit € 13 § Hfewr faprm 17d9 X, & €t Aftorm & gan@er J, 3T X e yae
MEHTE U3T I |

ufgsit & TaraHa Huas S € Aftrret g3a3tet (fasrysamafus al3) &%
gt et s G X €< Aftprret &5 I3t Afeenr § wan@ et Ik E(X) usmaq |
H& 88 € ufit & Hee I yuz After e Az § X 3 fefmm aer g Xer
YA M3 Had ffE85 U3Tdq |

fea mi3 feg 15 fefemmaat g faast &t €va 14] 17] 15] 14] 21] 17] 19] 20]
16] 18] 20] 17] 16] 19 w3 20 v T | few fefenmagt & fen 3g+ gfen famr fa
99 fefenraat € g Are & AgresT g9raa I m3 g fefemagt S ena & (X)&
f&fi faprm | §393te 9% X €T Ag=aT @5 U3Td9 | X € HON'S, YAIS W3
Hod feess ST U3 aq |

fea ¥aa ff9 70% saitesr & fan yrz=er maes at3m 3 30% gatedr &
fedu g3 | e gafted & §393te 5% gfen famm w3, Ad9 Gn gaitleT &
yAgTe € fedguaiar d= 3t X =0 & fapum, 7€ fa a9 W& yAs™= v AvgEs
atgrage 3t X =1 feur fapur| E(X) w2 var (X) u3Tdq |

J5 fay fE9° goa fea mat €39 5<:

16.

feg fag um, fAame 35 28t '3 1 §9f3s '3 2 ma3 ffgum '3 5 et 3, &
Hee 3 Y3 Aftprrat em HuHs 7 :
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8
(A) 1 (B) 2 (C) 5 (D) 3
17. Y& &5 3w et fa dut 3 9303at 3% € U3 d% 7T 76 IHa 8§ X fefam ef
foregtemer 313t E(X) v Hs T
R A} o 1 o2
()221 ()13 ()13 ()13
13.7 9831 yifame W3 € uet €5 (Bernoulli Trails and Binomial Distribution)

13.7.1 99581 035
e YHaT €t yga3t € 3t TEt g€t T | Gerude set Gurienr Sfemr fitar

fea fog At ffq ue ean@er I, fan yrs e €° 39 ot 7 &dt T HaeT I, fea#iz 3 gar
foas gfamm " 7 ‘adt faafenm 37, ffa ensr ot At a9t I wirfe | few yama &t Afagtut
g feg faor faea T fa yruz a3t f&9° ffa § Aes3™ w3 g4 & ‘mMAe®3™ faar
AT 7 | 8egee Et, fea ffa & Geae 3 93 M § megam vfenr e 37 ‘ue’
Qe & mAes3T faur Ar=ar |

9 T7at, Ae il e e @eae g At f&q um Hfemm Arer 3 7 d€t 39 y&ar
gge Jf, 3t wmt fend feq Yue (trial) afde ot Aa9 ffq fifar Hs &, 99 =<t
Sefenm a2 3Tyt &t farest 4 J=at w3 fega S sda € sdlm sla € dear o=
AeS3T AT vAes 3T | fan fq ue e a3t fan g7 Yue € s3tH I nae g J Ifen
YT € maTe Yy fAgst @ 9% & 5311 3¢ 95 fAgs »iang ‘Aes3T A ‘MAes3T
FfIB e 75, 5938 Jue IfIs e 75 |
ufgemr ¢. feq §39319 YT Yyt § 994 8T Uue afde 76 A 8u s fadtut maat
'g'i_)'}__l'cl"’&?!@'tl?;‘:

(i) Yuet et farest fonfes (Fifl) detawiety,

EN
-~

(i) Jue feggarmede e Is|

(iii) IIT Yue € 3la € It 5311 IS IdiE U5, HeB 3™ AT MHE ST
(iv) foms3tH Stig=sr 99d Yy <9 gorgg afost ot T |
Cegge wEt feg um & 50 =4t e 50 Fedat Yust St o3 9, fan feg o9
JuE e 53 a3 (e 8 fars At nr@er) 7 vimessT (efd Afummmr@er)
w3 At 50 Gt fSu nesaTEl igesT (p) o 99799 I | 9919 Ha U <t fear 3 gmie
g Qe mimre Y&aT € 95 | 7o U fsaly I w3 fere g gat 3 & Aftret 1 36
1

. . . . 1 =~ o a
3 fadtut aretnrt g 3t p:EWéqul—p:E ST Ag=EaTJ |
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ufggmr 30. 7 &I 9 TBT Iret @8 feq gon 9" fea 3 gwe ffa & aret
Aem AEhT U5 |1 TR fa dre de< © JUS 99881 S U356 I6 AT 591 7dd 30 deS
TEmEdEd:

(i) YasgAE Uz 3T famur J= |

(i) ysTrETUz sTAI3Tfamrd= |

75
(i) Juetw3st &t farest Afvg (farfez) J17< dret § dee € amie an &9
T AETUS 137 farnT 97 3T Aes 3T (He #8 @ diedes) € Ag<sT p=
%amwwgmmﬁqwamwwgmm@m
AEST HIS BT JUT U35 I5 |
(i) 7 et § 999 Usd AU J13 dfenT farrr 3T ufod w3 e res3T (3=

e N~ o 7 a = ~ 6 a Y - 0 =
FHB I T ILIT) TTHIT=EST T J,gnu3s e = I3 fen3giAme3a s
A9 B3& <9 Ae®3T & Ag™esT garaa &4t 7, fen wet feu Uifime sed=t u3s
It IE |
13.7.2 & yel @5 (Binomial Distribution)
fea fia € Ge&< © ydar '3 feug g9 fan f<9 79a w35 &7 a3 Aesa
(= 36 f93) 7 w3 (U2)JIT 75 | 39 U35 <9 Aes3™ i3 WAe® 3™ § JHEd
S W3 FHs &6
feo e fa Arst & w3s ST fea res3T © Su 3dtfantt & usTa9s feg fesamit
JI7e 39 3 & U IS s A= fa ot fafum famrm 3:
SFFFFF, FSFFFF, FFSFFF, FFFSFF, FFFFSF, FFFFFS
6!
fer yarg, € mes3T=t M3 99 mAesIR 4o, I Y T AaehT 95 | feust
AT @it &1 fere ga78<eT 993 &9 o d=ar | fer &€t 0] 1] 2] -] n resa=t &F
A& U3T J96T SIS AT B THTIH I AIETJ | n S98 8T 36T 9 resz=t
o fare 3t €t ig=aT u3T J9s BEt fq F39 e fsanre 13T faprr 7, fAn 3 fare st fee
BIE T& A I A< S3rt &t fere g€ 3 sforr ArAger T | fer €en set f3s
IS BT 35T 3 9 FIIST YWaT S B¢ 77 fan <9 999 3w ST Aes3™ M3 v
Tt AgTeaT=T @HEd p M3 ¢ I | fer ytiar e fait AHg
S = {SSS, SSF, SFS, FSS, SFF, FSF, FFS, FFF} &
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AesITa o fare 3t T 93931998 XIwI 0,1, 2, A 3N & AdeTJ | Hes =T
&t fare3t €t AgesT @3 95 faut 397 yuzs St A gt 3|

P(X =0) = P (I €t Ae® 3T &4t)
= P{FFF}) = P(F) P(F) P(F)
=q.q.q=¢ (fa€fx ufime »me )
P(X =1) = P (fa Ae®3)
= P ({SFF, FSF, FFS})
=P ({SFF}) + P{FSF}) + P({FFS})
=P (S) P(F) P(F) + P(F) P(S) P(F) + P(F) P(F) P(S)
=p.q.9*+ q.p.q + q.9.p = 3qp*
P(X =2) =P (€ Ae®3=T)
= P ({SSF, SFS, FSS})
=P ({SSF}) + P({SFS}) + P({FSS})
=P (S) P(S) P(F) + P(S) P(F) P(S) + P(F) P(S) P(S)
=ppq.+ pqp * qpp = 3qp°
w3 P(X = 3) = P (f3& res3r=t) = P ({SSS})
=P(S). P(S) . P(S) = p*
fer st X St Ag<aTe3 T
X 0 1 2 3
PX)| ¢° | 3¢°p| 3qp*| p°

&% Tt (q + p)® @ &-u<t fenga J6 Mgua J -

q° + 3¢°p + 3qp* + p?

sead fa 0] 1] 2] 7 3 Aew3T=" et Agres= gHea: (¢ + p)° © fenag &t ufast,
Al S 3 S ue I |

&% dfa@faq+p=171fan F feomeg e I famdt iges=rerag 13 fAe
faugratal

fem et mint feg s3tFr dee o7 fd n-99d st aast T Yuar €90, 1,2 ..., n
HeBI= & Hg=sT=t (¢ + p)' € fena €f ufomt, gdt, 3T, ..ot ue 3 yug
ISt AT AaET 95 | fer 5310 & iU d9s &et vl 1 dg98 8t wgat =8 yuarfee
x¢AeB =T e Ag=aT U3 T dde I7 |
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Ae 39 3 x Aes3= (S) T 83 ff9 (n—x) MASE3 =T (F) =it |
!
< XFRBI =T (S)MI (n—x) mAes3T=t (F), ﬁ Sdtfot feg g feg Jeht o |
fegst f[I9° 99d f<9 x AR®3 =T M3 (n — x) MACHI = T MAEBI = € AFT=aT
= P(x Ae&3™=T). P[(n—x)mAes3T<i|

_P(S).P(9):-P(S) . P(Fyut uyu F) _

e (nix)w pv qn—x
for et n-995 8t W3t &9 x AesI= & Ag=aTJ |
few met P(x Ae&3=") = "C p*¢"*,x=0,1,2,...,n,(g=1-p)

fersel P (x ie&I=) = C p* ¢" ™, (¢ +p)’ € fem@a e (x+ 1) U T

fernr yag ndead st w3st T8 feq yuar f<e Aesa= & faest &t fg=sr =5
(g +p)' € €8ust femgrs It yruz a3t 7 Aaet J | fen &8t AesaT=t €t farest X &
TF I fadt 397 T

X 0 1 2 X n

P(X) nCO qn nCl qn—lpl nC2 qn—2p2 an qn—xpx nC pn

€3 et rgeaT <3 § Sust e afde os fan 9 nuid p, yes g5, fa@fa nma
p T U &3 I 3 »Ht AHYTs A6 5 USTId AdE I |
x FeBIT= @ AgreaT P (X =x) § P(x) 3 <t fafonr ater g w3 feng
Px)="Cqg"p,x=0,1,..,n(g=1-p) 3 YUI I9¢ I& |
fer P(x) & Sduet S5 T g =aT 856 Afde 75 |
T n-998 Bt T35 M3 I3q U35 <9 Aes3T & Ag=aT p, T8 Sdust 5§ B(x,

p) & fafarr aer 71
g g I3 Gergdet BEiE |
Gergge 31 . 7a9 fea fsaly fAa § 10 Tt G fapnr 3 I fie3t Ageas=r Uz da:

() STy

(i) WeIFuesfas

(i) SuI<usfas
I ffa fid §, 99 g9 e s wedat u3s gerd 110 u3st feg fasr et Afumr & X
gl
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o -~ o ~ 1 —_ o EN
Aede3feg s n=10mM3 p= 2 THE ST T T |
ferset P(X=x)= "C q"p*

- _ 21 1
&g n—lO,p—Z, q—l—p—2
10—-x X 10
fem mgt P(X =x) = C, (lj (lj =10C, (lj
2 2 2
J<

. . 1\ 101 1 105
i) P@aeEfa3) P(X=6)=C [_] —_ 0 = =0
0 " ) P(X=6) 82 6Ix 4! 210 512

(i) PIE&re & f¥3) = P(X > 6)
=P(X =6)+ P(X=7) +P(X = 8) + P(X = 9) + P(X = 10)

10 10 10 10 10
1 1 1 1 1
-eai(z) wrelz) wely) aly) ()

(100 ) (100 ) ( 100 ) ( 100) (101) 1 193
= o) " 7xar) lae2r) lonan) *lio1) 20 “512
(i) P(FuF3uafdz) =P (X <6)
=P(X=0)+P(X=1)+P(X=2)+P (X=3)
+P(X=4)+P(X=5)+P (X=6)

10 10 10 10 10
= (3) +oal3) el3) el3) el3)
2 2 2 2 2
1 10 1 10
4100, (_) 100 (_)
2 62

848 53
T 1024 64

Sergds 32. 10% yag wifswt =& fea 893" 10 »i3 fea 3 goie fea usa rarfug aae

T Je IR Ifen i@ et Agr=aT usTaq fa 10 #ifsnt € sy i wieduie e nizruarg 7|

9% W& G X yarg nifgnt &t faredt & ener 7| fa@fa »ifant & use rerfuz a9

afenT faprr T fen oot feo f 998BT G35 TIAR 39 I X @ 2F n = 10 mI
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10 1

=10%=——=— 5 =33
p 0 100-10 TH U T T |
1 9
fem =&t =1l-p=1- —=2
4 P 1010
g< P(ufeture féq yarg miz™) = P(X > 1) = 1 - P(X = 0)
10 10
9
10 10
| femmr 13 5 |

1. fegum &6 =<t Cefonr aer g 1‘uR 3 famres Afmrr yuz 9o g ressTd
37 5 Tt & et &t 32t ?

(i) ata 5 Ae®3a=T ? (i) Wetule b mema=r? (iii)) Tu3 <u b mesa=r?

2. it & fea A5t § 4 =t @erfenm ater I |17d9 ‘Uit 3 yru3 it €7 garag
Jer AT AE®37J, 372 A= et Ag'<aT U3Tad |

3. =Agyt e ffaga <9 5% saned ang» Is | feret at AigeaTd fa 10 = ste
fq sys ST fea 3 U gane g &dt =gt ?

4. 52 3w e Ufawt &t foq &t 3ot 3fet fe9 usa rErfug a9a 5 U3 fea 3 gme fia
ae Ae s IfendtatfgesT I fa

(i) ¥ 5 I gaHT T ?
(i) feg 3 WS gaH e g7
(i) TS UITgaHeT &I ?

5. faw eaedt few g f€q g@y &t 150 fest € fenaws € gmie fe@w d= &

Fegr=sT 0-05 7 Ifer &t Ag=aT uzTaqd fa feryaa € b gaat &9
() g =t (i) g T Fuadt
(i) ffgIF<T  (iv) Wtz fex, 150 feat € femans € gmie fe@m I Arear |

6. fEaas fSg10 dretas fagstfEe goa s 0 3 9 Ja e wiat &5 fea wia fafomr
J 1799 88 {5 4 dret yad rEfuz J99 fa 3 gmie ffq o=t Al 7, 3T feret
at AgresT I fa Gust f&5 fan Stare I via 0 s fafimr g2 ?

7. fea Hgdgs yaa e 208ynst =@t yifunr fiSe s 8 fa fa fefenmast fea
fsaty fia § 8w o Jea yrs v @39 feer T IFagun 3 ez m@erg 3t €39
‘WY’ feer I M3 Adg Ue 8T J 37 ‘g5’ e J Ifern et AigesTusTad fa €
uredure 12 yast e Aat €39 féer 91
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10.

11.
12.
13.

Jfes

1

. Hes8fa X, B[G,E]E“r&ue’réafrlew@h X=3 2 F U Ag=5T THT

iUl
(fd3: P(X =3) Ad P(x), x, = 0,1,2,3,4,5,6 feg" Fu 3 <ud 1)

. e sgbfeasut yifvmr fS9 5 yis 9& fagst fSe sda @ i3s ig=t 839 75 |

fenet st ot FgreaT I fa fEa fefenadt d=s MaHs 5% 979 7 <U yrast € Adt
g3ge<ar?

fea femaat f&a sredt & 50 feae ydteer T, fan fe5° Ewe o9a few fAss &t
E— %ﬁlﬁﬂﬁé&?ﬁ?ﬁﬁﬁ@? (a) WEtare R =t (b) St e
Fat (c) urdduie & =mat, feam fagar |

ffaur§ 7 et € Istae =t b e et AgeasTuzT a9 |

fegum § & Tt @ewe 3 Tu 3 ul o9t e e S ig=sT usT a9k

feg uzT  fa faw ym yaa €t gt @ng €t farest ff9 10% gt sane9 05 |
fen &t at freresT § fa fem yara &t 12 sgw € §3astdt s s ae aua &5 9
SOAACT JSIhAT |

14 fEgs9fds 100 89 95 IfAn f&9° 10 g gs | 5 g89t & 5ys &9 fan St ey

15.

TTYIH FTIS ST HIEST

A) 101 B [EJS C [EJS D i

(A) (B) > ©) 10 (D) 10
ﬁaﬁ@mﬁ?mwﬁzéﬁgﬂw% J 35 fefenrggtnt f&9 4 &7 39
Jedtig=aTa:

el e[y

4
(C) 501%@) (D) fegst f&9 et &at
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EAE GTTIS
Gergge 33. 99 ot f&9 Jaits Iret I& fodt gt e AT U5
g gar
BT HeT S ey
| 3 4 5 6
1 2 2 2 2
i 1 2 3 1
v 4 3 1 5

fea i3 § 9393t 57& gfenm famm M3 So En fEg are J<t aret Inag dieer
31 eI 3T feret at AgesT I fa dre § 39 11 f&5 dfemm I |

75 e 89 A E, E,, E, "3 E, 35 f&3 37T a78 ufeefas wesr=t 75 :

A : ffgastaicaesr E,: s9&I€td=
E,: S3I &S E,: SN 5=
E,: SRUIVETe

faGfa sfent & gza3tet a7 gfemm 3

fmmd  P(E) =P(E) = PE) = PE) =

3 2 1 4
&% Jt P(AIE) = 'L P (AE,) = 8 P (AE,) = 7 W3 P (AE,) = 3
PEE& Il SS9 A fausr I faastaredaetd)
= P(E,|A) §G1H YHG IIt

P(E;).-P(AIE;)
P(E,)P(AE,)+P(E,)P(AIE,) +P(E;) P (AIE;) +P(E,) P(AIE,)

P(E,JA) =




598 Jfes

o a e 1 9 -
G 34. SdIEtEw 8[4,5] TCTHUH'G U3Tdd |

75 Vi B0 f X 67 dg9giy 9B I faet & 5[4,3 3
o 1 . 1 2
= :—7113’ =] —— =—
g n=4,p 3 q 373
2 4-x 1 x
At Arew O o wx—@:404§) 6J,x—QLZSA
g Xtz Js fadt T
X, P(x) x, P(x)
2 4
‘<3
0 o3 0

g ()= Do)

oY Gerrel (3 ae Y el

3 2
4x§;+2x6x§;+3x4x§;+4x

3t
32+48+24+4 108 4
3* 81 3

1)“
3



Ag=aT 599

Sergge 35. 9 feraaw € feusT Aat Bar@<= <t fAgreaT %fﬂ@mﬁ%—uﬁf—é{?ﬁ
et dE wE for faa 3 ufE-ule Rt et s o frreaT 099 TR 7
e o fr R ) e e g a2t et g 1 waRe
U35 J6 |

= o wrs s fmrat Aot st & T = - i g = fwrds & et o dere S

4
Ag<aT = 1
!
N (3)" 3*
. P X= :f’lC n—x x:f’lC (_j (_j :f’lC I
3t P(X=x)="C,q¢" " p \3 2 T
ge faara
P(WE-ure fea st foms & SareT) > 0.99
g P(x >1)>0.99
fem wet 1-P(x=0)>0.99
. 1
7 1-"C,—>0.99
4n
ar 4Coi<o.01 g~ <001
4" 4"
T 4> L 100 1
0.01 - (@)

ME3T (1) $A3He 996 T8 n T ufd-We Hs 4 J1

fen et foma g & Wi We 4 St I8t Uit |

Gegae 36. Am3 B=dt fAg feq Ui & Hee s A 3a fa Guat f[eg aet fequm 3
g YU3 99 43 fi3 5t 8T iAd9 A 3 43 g qdie 37 Gust € fi3e &t =g
HIR&TU3T AT |

75 He B8 SAe®3™ (WA 3 6 m@er) §m3 F niAess™ (WA 3 6 svmBer) &
TIET IS |
5

fom et PS)=¢. P(F)=<



600 Jfes

P(A & ufirst ot e i fifge) :P(S):%

A I G e i 3t fimer I A A ufast G fRem3 B et 8™
f&9 ninem3T fuset T | for wet

2
P(A e 3t €% feg fd3sT) = P(FFS) = P(F)P(F)P(S):%x%x% =(gj x%

fen 337 P(A T Umst €575 S5 frigeT) = P (FRFFS) 2@@

i3 few o T, fo wet p(A@ﬁ—w):%{Ejz(lj . (ﬁﬂlj N

6 6 6/ \6
1
__6__6
1-25 11
36 6 5
P(BfA3s) =1-PAfdA3ET) = 1—E=E

fust: Ag@ (@ +ar+ar? + .. +art+ .., fHEr|<l) 3T oA md3 st e Az

a
1-r
Sergae 37. Aaq9 & Hits Fait 39T Faret ATt T, 3T 90% AT HaT <At g=Tg et
I | 799 feg a9t 3gT adt saret 7iet 37 feg U39 40% AEtaTg war @AsT s @ et 7|
ufast e 3rgeT feg gem@er I fa vits 80% Sait 397 Aarfuz T | A9 fEa sl mamus
T gE WS 2 AStITT WaT @R3T geTet 7 3T feg AgTesT usT a9 fa wEls 9ait 39t
AIfuUz T |

. M& B Afdg wesT I fan <9 Hits € Atag War SRgw s 8t T I35 dh s
%8 B, At I9H YS! & wesT § TanSET I M3 B, I3 J9d YSTST €1 WeasT &
Erieuseual
= P(B,) =0.8, P(B,) = 0.2

P(AB,) =0.9%0.9 W3 P(AB,) = 0.4 x 0.4

T | (FF A3 XI & U uRga € A.1.3)

P(B,) P(AIB,)
P(B,) P(AIB,) +P(B,) P(AIB,)

ferset  P(B,A) =

0.8x0.9x0.9 648

= =0.95
0.8x0.9x0.9+0.2x04x04 680




Ag=aT 601

HIPHTIT 13 T HTTTT ECTB HITHTH
. An3 Bfer3gt St wes=r g5 fa P (A) = 0 I P(B|A) U3T a4 Hd9 :

(i) A AHT BETQUAHT T (i) AnB=¢
. e rdigeraS e 9935
(i) €< dfont e i3I St Rg=aT U3 dd Had feguaTJ fa &< dfowt iS5
urdule fear iam T |
(i) €< dfont S gStIe St igesTusTaqd fa Aag fegusTg fa Tz dorg=t
Tl

. A9 & 5% Haet M3 0.25% #a3 € T% U8 75 | q U% =5 @& fenast §
§39314t 578 gfemT fapur | fen fenarat € Hae T et Agearat I 2 feo s fa
HIet w3 na3T &t fare3t o aa I |
. W& B8 fa 90% fonaat ia J8 &% a1 396 @8 I6 | feret AgreaTat I fa 10
feanst S5 §303tat s g IR U3 U 6 feam s AT J8 B IH Id6 =8
Jar?
. fea g feg 25 dret gs, fagst f&9° 10 gief fog X o=t mz gat 15 fog
Y. TET Is | gen fE9° e gre g3t v aEt aret miz 6n I wifas fog
&2 g9d 87 I&wH f<9 ysabrauz ag &3 farrm | A fem 397 &% 6 aret
e AET 95, 3T J6 fadt AgTes=tugT a9 :
(i) atnt 3 fiog X' »ifaz 3= |
(i) 2 U3 fog Y wifgazarigi
(i) uredurel are 3 fog 'Y wifag 3= |
(iv) X' 3 'Y fagt 3 vifaz aret et fare3t sagg 9= |
. Rggurdsfeftayfstat § 10 su=tug agat 75 | feret rg=sTfa €0

ey g A 3 e e o € 2 3 e e o
(zat yg adar) ?

. g um § gadae Geforr Aerg Ao ST ER T 6 Troia f3s odt st mGer |
feret AgesTuzT A faur 3 376 evriaBrg et edt Gedes I YUz der
JI

. 799 fEq BU A & 93936t 578 gfenr 92 3t df AeesT J fa Gn mw fee
53 Ha®=Tg J=ar ?

. f&q y&iar € Ae® 9 € AHaT O Mg 9 3 e g7 J I Ag=aT U3t ad fa
MoT =8 6 W3 fegufeduie 4 A g=ar|



602

10.

11.

12.

13.

14.

15.

Jfes

fea feans fEa faauy fia & fast =t G fa uedure feg fioa €t feresT
90% I g g ?

fea a3 ST fan fenaat & fEa fsauy uw & B & gie 6 e 3 fea
i fHgeT I I Ja gt fftrr i@ 3 B i gfum o9 e 7 | fea foast
ffastmradeer J, faGuun g fas st Hear g Ae st 6 ear o us § &3
=8ar 18w gt fH 3t A ot aHT BT Y= MeHTs UST AT |

He B8 A3 % A, B, Cv3 D gaH & fagsT f&9 3dt AaoHg €1 &%, Age g
TBT ST T feeas I fout 3970 | §393TeT 575 fed ganr gfen aier
I w3 fen 3 feq ez dfenm AeT I | 7dd ea3 7% J< 37 fend gan A_gan
B] sam C S'de AT St at Ag=aT J ?

g0 HIMHOHT € gafaHT ev dar
T AT qTHT
A 1 6 3
B 6 2 2
C 8 1 1
D 0 6 4

V& 56 fan ait & fex e dav U e i 40% J | feg s fen ater I fa forrs
w3 Tar fett 57 few g7 Sa7 Ue € 439 & 30% We Ji3T A AgeT § M3 e<et
gt y3d § 25% e 3T 7 AdeT 7 | fan St A 3t feust g5t <9 faw fea
fegmsudt 9= adeT T Ifeg 3T I fa €3 &3 feawur f&5 fan fea et s a9
B JIT I §I93HT &8 g JfemT Jait few & €9 I uifsa TaeT I 139
TIt fors M3 WaT feut e femaH s a3 A7 ST Hg=aT U3Tad |
799 2 gH € e feeaitade € A9 33 fiAga A ffa I 3 feenild e v usana
H& I St AgesT o T ? (Ha B8 g fecaiae er goa I3 mimet 578 gfomT AT
Wﬁn@aﬁaé%éﬁaﬂwzﬁl)
fea fedaefaa mrest € € Aorfed ges Am3 B U5 |ufgst € fadtust gt ot
e AgeastuaT s :
PAEmAe® g &t ) =0.2
P (fres B € mAe® d= &) = 0.15
P(An3 BE mAes d= &t ) =0.15

3T, IS HI=ET U3Tdd:



Ag=aT 603

(i) » (» MASH/ BMACH I gaAT I< )
(i) P (= AnFeH)
16. &8 11393 IBMI 4 IEPATIeT I35 M3 88 || fE9 4 &I 5 T Jrer
IG5 IfEa ITEd 1 TS 2 I Fat ATt I3 ffa Iie &d 2 fIg o<t Aet J|
AE JE IE FH JAT €t T | IHT T Ire €T AT BT At fen € AgTesT u3T AT |

Jot fad yrst feT rat €'3a St S ae:

17. #gd Am3 B < fed fadt wesm=t g5 fa P(A) 2 03 P(B/A) = 1, 3T
(A) AcB (B) BCc A (C) B=¢ (D) A=¢

18. #ad P(A/B) > P(A), T, 37 Jo &3t {5 fagst mat 7
(A) P(B|A) < P(B) (B) P(A N B) <P(A) . P(B)
(C) P(BIA) > P(B) (D) P(BIA) = P(B)

19. #99 AW3I Bfed fadt € weas=t g5 fa:
P(A) + P(B) - P(Am@‘ B) = P(A), 3T

(A) P(BIA) =1 (B) P(ABB) =1
(C) P(BIA) =0 (D) P(AB) =0
T~
fer miftmrrfe € Wy fig 3o fadt 397 s
¢ weaT ETteHeS AgTeaT Av g wesT FEst 38t 9, d5 yaa 3 usT 13t AT
- _P(ENF)
raet 3 P(EIF) = pE) P (F)#0
¢ 0<P(EF) <1, P(E'|F)=1-P (EF)

P (E VU F|G) =P (E|G) + P (FIG) - P (E n FI|G)
¢ PEnF)=P(E)P(FIE),P(E)=0
ATP(ENF)=P(F) (EIF),P(F)=0
¢ #99 EWMI Foiae wea=t I5, 37
PENF) =P (E)P (F)
M3 P(EF)=P (E),P(F)=0
P (FIE)=P (F), P(E) = 0



604

Jfes

A& AFT=ET T YHT
He 88 {E E, ..E)Sxait mw S e feq fegms I3 E, E,, ..E, <=
99 € AgT=aT dE4fHRa I 15® It A Fadit AW 7% AEfus ffq weaTJ, 3*

P(A) = P(E,) P (AIE) + P (E,) P (AE,) + ... + P (E) P(AE,)

§WH YHH: #a9 E, E,, ....E, & AHT S € fegs v faanre qaet J =
E,E,..E #¥<9esTa3 36 m3 E,UE,U..UE =Sw3 Afda diesfies
Ag=aT et wesT I 3t

P(E;) P (AIE;)

P(Ei|A)= P
ZP(E_,)P(A|E_,)

feq 939319 98 Taait AHY 3 ufae s e H3fea Hs eBs Jev J |
39319 9% X € AgesT &3 Afunr=t €t Jo fadt yerst 9

X : X, X, X,

P(X) : P, D, p,

ﬁ‘a’pi>0,2pi=1, i=1,2,...,n

i=1

)-T'c'?B'@' xﬁamwﬁhﬂ%ﬁ@éﬁw Xy Xy Xy . ,xnU?T,mU'é'i'éT
IHRTHIIRE=T p, p,, Py - P, T& | X THOHS p 3 fafamm Ater J fagsT
ﬁﬁﬁwrzxipiﬁlmwx@ﬁmmé X, €T YgT-"gH's F Ffde I8
fang E (X) 3 fafiorr arer |

He 38 X fq §393la 98 J fAne Ag=T¥8 x,x,,...x 35, fAgar et e
AS=RE= p, p,, . p, & 1HE BF n=E (X), X T HOH& J |

X, € yAgs var (X) Af o2 3° fafymr 7ter 7, Iat ufgeaa I:

6.2 = Var(X)=Y (x, )2 p(x,)

A AHZBIT€ 393 0 2=E (X —p)?

i=

Jig-faerana fAfeur o, =x/Vﬂr(X)=\/ n (x, —1)? p(x;)
=)

& 939319 98 X T Had f[euss afde 5 |

¢ var (X) = E (X?) - [E(X)]?



Ag=aT 605

¢ IR 39S YHTTE U351 § T98 81 U336 e 96 Add 8UI6 fEit a3t &
ga’raa—é’a?;:
(i) w3t <t farestmthzg gt aistai
(i) FSsMAEIS IIE IS |
(iiiy 0T W35 € 3l € I1 5311 I TIIE I&: HeB3™ %3 MASHIT |
(iv) faw =3tH &t igresT 99a u3s f<9 fea gargg afoct gaiet T
¢ SuStEF B (n,p), BETP (X=x)="C_q"*p'TI

’Bizaiaea 5

& Ui 3 wurfag 83 fe9 AgreaT (HaT) © HTU e ufgsT ey @3 3 @<t U3
aeq 3 fea fenfinr fE9 fHeer I | AgaHa98% (1501-1576) 8 A8 € 48 3
fea =3 fodu famer &7 fogg 3 33 maae’ (& At fros Guat € Has 3 g
1663 &g yama Ifen At | fer fodu fee €uat & € Uit § Hee 3 g9a wea
T IS s3Hrmt €t fare3t € §7d ST T I3BIBI8 (1564-1642) & f3& urfrmt
T fEq ¥z <9 Aoz € WU € 7aU < Jovst =&t foust a3t 71 d=iste &
femdws atgr At fa ae” f3s ufit & Bfenm arer g 3t B Tatut Afumret er
#7810 dJeTAz 9 FTuRT = I fa@fa Az & 10 9= € s3ifmif St fareataz 9
T a3t S farest 3 <u T |

fen ggnrst vareTs 3 fegrer feg »i 39 3 Hfewm AfeT T fa Ages &
fefamis e yirfes By AZ9<T Al € € HI™S IIfe3aT UHES (1623-1662) M3
fud @ g9H (1601-1665) ¥ fegara 98 U39-fegra 3 Ifomr | fe gatHIAT evmat
AT 3 WY & fAaifsa 39a M3 ge fee Ayt Yu=t fRg nigafedy et fenrfaonr
B U S 3 Ufenm | fer yas € I8 BEt 1654 YAS € a3 UHAS M3 SaHT ©
fegarg 9T U39 feurg & 53t f<9 Agr=sT € feforrs &t ufost sie it aret |
UHES & Ml § g Jife 3t gu R I8 a3 Ae fa gant & Aow & fedht er
fers ataT |

WIS I8 3 foemt fefaprrat fawrs (1629-1695) & UHIS M3 oWt &
fegara I¢ U39 fegd g9 Areardt M&t 3T €uaT & AgesT € ufast yrsa ‘5
Ihafrfan fes 33 mete’ § yaaz i3t fAn ffe idare v3 fRe ig=ar 3 53
A'd 399 Ud HRfa® mifiiet @ 98 &3 | IgT=aT fAuig 3 »idl Ho's a7ad Jag
9631 (165481705) & feq yAsd ‘Man drde st € gu e diar fagsTBuste
HI& 3 ge Buat € 93 feasr gad st & 1713 feg yahms st At 1I89sT &




606

Jfes

fea HI3=Yas figesT =3 ‘E-vudt 23’ et da v figer St AeT J | Ag=aT 3 wiar
YTH g7 MEIOH 3 Hfema® (1667 & 1754) €t yrsa ‘Etsafes me vin e
J fang 1718 fee yama atsr fapur it 1gim gsr (170281761) S €uste st
HAgY YHW ‘Faa-yHe’ § 83Ut d9s Bt aHa3 Ag™=aT € fenans a1 |
HHAYD YITBAHIG! ‘fumad At 3 sus™’ (174981827) & =t Ag=ar frais 3
Faa a3 M3 1812 few fea ‘faGdt marfafea 3w yafafsea’ yafaz it |
fere amie gt arfegar methe (1821&1894) , vaa=  (185681922) . femmius
(1821&1918), M3 €. #w. aHdi= (1903&1987) & Ae=sT fAurs 3 AoEd
HareTs fo3T | TBHdI=E & HIT=aT &7 AW @86 © gu feg g9 fear | farg 1933
fe9 yaa3 unsa Heesr & muag 3 futa’ f[Se HereaT & fenr fi<e ime Hiemm
fapar |

J
0‘0



607



10.

12.

14.

16.

18.
20.
22.

11.

1
——C0S2x 2.
2
1
—(ax+0b)® 5.
3a
3
x——x+C 8.
3

2
%+Iog|x|—2x+C

5, 7 3

7x2 +2x2+8Jx+C
3 5

—x2-—x2+C

3

x2=3sinx+e*+C

tanx +secx + C
2tanx—-3secx + C
A

log(1+x?)+C 2.

cos (cosx) + C 5.

3

i(ax+b)E+C 7.
3a

3

%(1+2x2)2 +C 9.

%«/x+4(x—8)+C

1.
—sin3x .
3 3

1
——cost—iegx 6.
2 3

3 2
ax

—+L+cx+C 9.
3 2

11.

13.

15.

17.

19.
21.

%(Iog|x|)3+c 3.

—iCOSZ(ax+b)+C
da

2 5 3

5

4 3
§(x2+x+1)2+c 10.

1
_eZX
2

4
- +x+C

2
=x*+e"+C
3

2
x—+5x+i+C
X

3
x
—+x+C

U 5 3
—x2+—x2+2x2+C
7 5
3

3+3c03x+%x2+c

2
—Xx
3
tanx-x+C
C

log[L+logx|+C

Z(x+2)2 —g(x+2)2 +C

2Iog‘\/;—1‘+c

607



608

12.

14.

17.

20.

22.

24.

26.

29.

32.

34.

37.
39.

Jfes

7 4

1. s 3.1, 3 3
—(x"-1)3% +=(x"-1)% +C 13.
7(36 ) 4(36 )
(logx)"™" 1
~~7 +C - A2
1-m 15. 8I0g|9 4x°|+C 16.
1 E
= +C 18. ™ 4C 19.
2e
1 2x —2x
Elog(e +e )+C 21.
1
—Ztan(7—4x)+C 23.
1 .
E|0g|25|nx+3COSx|+C 25.
1 3
2sin/x +C 27. é(sian)2+C 28.

%(Iogsinx)2+c 30.

£—1|0g|C05x+sinx|+C 33
2 2 ’
1 3

2 Jtanx +C 35. 5(1+Iogx) +C  36.
—%cos(tan 2xH+C 38.
B

x 1.

——=sin(4x+10)+C 2.
2 8

1 isin12)c+x+lsin8x+lsin4x +C
4|12 8 4

—log|l+cosxf+C  31.

18(2+3x°)

1
- er+3 + C
2

log(e* +e *)+C
1
Etan(Zx—S)—x+C

%(sin 1x)?+C

- +
(1-tanx)

2. /1+sinx+C

1
1+cosx

+C

i—llog|cos)c—sinx|+c
2 2

1 3
§(x+|ogx) +C

D

—icos7x+lc05x+c
14 2



11.

13.

15.
17.

19.

21.
23.

€3sT 609

1 1
—%COS(2x+1)+%C053 (2x+1)+C 5. ECOSGX—ZCOS4x+C

1 1(:056x—1cos4x—1c052x +C
416 4 2

111 . 1 .
—| =sin4x——sin12x |+C S. 2tan£—x+C
204 12 2
x—tan£+C 10. 3—x—lsinbﬁtisin@ﬁtc
8 4 32
%x+1 Sin4x+——sinBx-+C 12. x-sinx+C
1
2 (sinx + x cosa)) + C 14. _—c05x+sinx+c
%sec3 2x—%sec2x+c 16. %tansx—tanx+x+c
sec x — cosec x + C 18. tanx+C
1
Iog|tanx|+§tan2x+c 20. log|cosx+sinx|+C
2 1 cos(x—a
= ric 22, = 10g| <8 (x=9)|
2 2 sin(a—b) |cos(x—b)|
A 24, B
1
tantx3+C 2. Elog 2x+1+4x*|+C
1 | 1. 45
|09| +C 4. =sint224cC
12— x4 X2 —4x+5 “ 5 3
1, |[1+x°
3 _tan W22 +C 6. —log +x3 +C
2\/5 6 1-x




610

3

11.

13.

15.

16.

18.

19.

20.

21.

22.

23.
24.

Jfes

Vx? —1—log|x++/x? —1‘+C 8.
Iog‘tanx+~/tan2x+4‘+C 10.
1 _1[3x+1j

—tan +C

6 5 12.

log C 14.

x—ghlxz —3x+2|+
+

x—a—2b+1/(x—a)(x—b)

22x? +x-3+C 17.

log +C

glog‘Sx +2x+1‘

64/x? —9x +20 +34log
—J4x—x? +4sin? ["—;2] +C
Jx?+2x+3+ log

—|Og‘x —2x- 5‘+—|Og

NG
5yx%+4x+10 —7log

2

9
x——+
2

Xl\/_

x2—9x+20

+C

x* +4/x% + a®
|Og‘x+1+\/x2+2x+2‘+C

sin~ (x 3]+C
4

. 2x—3
sm‘l( ]+C
J81

lI0
3 g

Jx®=1+2log

x4 —1‘+C

tan (@j +C

+C

x+1+w/x2+2x+3‘+C

X424+ +4x+10‘ +C

B 25. B

(x+2)

log|x —1—5log|x — 2|+ 4log|x -3+ C

1

-3
—Iog

x+3

R



10.

11.

12.

13.

14.

16.

18.

20.
22.

ST 611
1 3
Elog|x—]4 —2log|x—2|+zlog|x—3|+c
4log|x+2|—2log|x +1+C 6.-%+bﬂﬂ—%bgh—2ﬂ+c

1 1 1
Elog|x—ﬂ—zlog (x? +1)+Etan*1x+c

2, |x-1 1 1, |x+1 4
—log - +C 9. —log——-——+C
9 “lx+2| 3(x-1) 2 Vlx-1 x-1
5 1 12
—log|x +1——log|x -1 ——1log|2x + 3+ C
5109+ -5 loglx —1—7—log[2x + 3
5 5 5
—log|x+1 ——log|x + 2|+—log|x —2|+C
S loglx+1— log|x+ 2|+ log|x 2
2
x* 1 3
—+—log|x+1+—log(x -1 +C
5 +5100]x+ 1+ log|x 1
1
—log [x~1+>log (1 +x) + tanx + C
5 1 x=1 1
-2|- —lo ——tan" x+C
3log|x - 2| ——*C 15. olog— |- tan " x
1 x" _sj
—logl——1+C 17. logl2=3Nx| ¢
n x"+1 1-sinx
2. . «x X 1, (x*+1)
x+—tan~" —-3tan"—=+C —lo +C
BB 2" 19 2
4 x
llogx 41+C 21. log ¢ -1 +C
4 X : e’
B 23. A
. X 1.
—xcosx+sinx+C 2. —§C053x+§S|n3x+C

2 2
e (P-2x+2)+C 4. %Iogx—%+C



612

10.

11.

13.

15.

17.

19.

21.
23.

Jfes

2 2

x—logZx—x—+C 6.
2 4
.2
%(sz—l)sinlx+“Tx+C8.
-1
(2x% ~1) 0054 x—% 1-x24C

2
(Sin_lx) x +2J1—x? sintx —2x+C

—[ 1-x% costx +x:|+C

1
xtan’lx—zlog(1+x2)+c 14.
)C3 )C3
—+x|logx———-x+C
L3 J g 9 16.
ex
+C
e 18.
¢ ic 20.
X

2x

65 (2sinx—cosx)+C 22.

A 24.

3 3

x—logx—x—+C
3 9
2
1
2tanty—ZiZtantx+C

2

12. xtanx+log |cosx|+ C

2 2 2
X 2 X X
—(lo ——logx+—+C
- (log)* - log v+

esinx+C

e tan£+C
2

X

e

—(x—l)z +C

2xtanx—log (1 +x%) + C
B

%x\/4—x2 +25in’1%+c 2.
+

(x—zz)«/x2+4x+6+log
+

@\lxz +4x+1—glog

%sin1 2x+%x\/1—4x2 +C

x+2+\/x2+4x+6‘+c
x+2+\1x2+4x+1‘+c

5 . 1(x+2] x+2 >
—sin +——1-4x-x“+C
> \/g > X—X



10.

10.

13.

15.

€= 613
(x;zz)«/x2+4x—5—%|0gx+2+«/x2+4x—5‘+C
(2x—-3) > 13 . 1(2)5—3]
———=J1+3x—x" +=sin +C
4 8 V13
2x4+3\/x2+3x —82|0g x+g+\/x2+3x
%«/x2+9+glog x+«/x2+9‘+C

+C

A 11. D
MfP 7.8
1., 35 19
Z(p? - o= =
(b7 =a) 25 33
27 1 15+¢8
— 5. e—= 6.
2 e 2
Mg 7.9
2 2 IogE 3 54
2 3
1
= 5. 0 6. e*(e-1)
2
(J2-1) -
- log| ——
2Iog2 8 LZ—«@J 9 5
T 11 1Io 3 1 =
4 - 2995 T4
1 1 3.
d Zlog6+——tant+/5
2Iog2 14. 5 g NG

5 3
-1 16. 5——[9| S —]
2(6 ) og4 ng



614 Jfes

™ n 3n
L ——t =42 . . 3log2+—
17 a7 18. 0 19 92+
20. 1+ i—& 21. D 22. C
1 T
|>rrf3wn7.1o |
1 64 m
—log 2 — o=
1 > g 2 231 3 5 log 2
16+/2 m 1 214517
. /(241 R ) lo
i 202
7. = g, <=2 9. D
8 4
10. B
|>rrf3wr¢r7.11 |
. X , I 30 I 4 =
_— _— _— _—
-
1642 m. 1 m
—log2 —_— . —log= .=
8 g 9 5 10. > log2 n. 2
12. « 13. 0 14. 0 15. 0
16. —nlog2 17. % 18. 5 20. C
21. C
WHITPHTIE 7 T HTTTT §CaTB HITHTH
1 x° 3 3
—lo +C x+a)2 —(x+b)? [+C
1. Slogl— 2 3ap) (x+a)? —(x+b)

Bl

3. _E‘/M +C 4. —(1+i4j +C
a X X



n

11.

13.

15.

17.

19.

20.

21.

23.

25.

27.

29.

31.

1 1 1

2Jx —3x3 +6x6 —6log(1+x6)+C

1 1 3
—Zlog|x+1+=log (x* +9) +=tan
5 glx+1 7100 (" +9)+2

sinaloglsin (x—a)|+xcosa+C 8.

sin™ (smx] +C
2

10.
| 1 |cos(x+b)|+C .
sin(a—- b) |COS(x+a)|
(1+ \
MQL *_iC 14.
1
—=cos*x +C 16.
4
n+l

[ @b | .

a(n+l)
2 -1 2

(Zx ) in x4 2x—x" x? e
—2+/1-x +c0s” l\/;+alx x> +C
etanx +C 22.
%[xcoslx—wll—xz}LC 24.
) 26.
T 28
5 .
4
W2 20,
3
m
—1 32.
2

-1

C

615

—lsin 2x+C
2

1. 4,4

—sin +C

S50 ()

XiC

1 tan?
3 2

x—ltam’l
6

%Iog (x*+1) +C

_—2 Sln(-x+a) ‘C
sma\j sinx

1
—2log|x+]———+3log|x+ 2|+ C
g|x1| x+1 g|x |
3
1 2 1

ar ko[ 1) 2]
X
r
8
25in’1(\/§_1)
2
1
—Ilog9
40 g
—(H—Z)



616

33.

41.
43.

10.

1

19 w. Ye-Y
2 ° 3 e
A 42. B
D 44. B
14 32-82
= 2. 16-42 3, X222
3 3
T
12 5. 6. —
b8 6m 3
a@(n 2 1
AR 8. (4)3 9. 3
9
3 11. 83 12. A
£+25|n’1_2\/§ E_ﬁ
3 3 2
21
? 4. 4 5. 8
B 7. B
WHITPHTIE 8 T HTTITT §STB HITHTH
7 .
() 3 (i) 624.8
1 3 ! 4. 9
6 "3
8 a° 3
- ) Lo S(m-2
3.7 7. 27 8. 5(1-2)

13.



13.

16.

11.

11.

11.

o 1 U W

O J Nt W

O pl~N N©

y"'=0
y'=y-6y=0
V'=2y'+2y=0
xy'=2y=0

'+ x(y - =0
B

y=2tan%—x+c

. y=1+Ae™

y=log(ec+e*)+C

y: er

€gsT 617

11. 2 12 l
3
9—”—95|n‘1[lj+—1
15 7§74 3) 32
18. C 19. B
2. gHL; W3 1
4. @H 4, w3 ufgaTtazg &at
6. IH3;WI2
8. IH1;wI1
10. gH2; W31
12. A
12. D

2. )y +x()P-yy =0

4. y' -4/ +4y=0

6. 20y + x2 = )?

8. x" +x()-»=0
10. (2=9) (V)2 +x2=0
12. C

2. y=2sin(x+C)

4. tanxtany=C

3
6. tan'ly:x+%+C

8. x*+y*=C



618

11.

12.
14.

18.

20.

22.

11.

12.

14.

N

16.

Jfes

. y=xsinix+ 1,2 +C 10. tany=C (1-¢)
1
=—|og[(x+1) (x? +1) ]——tan x+1
Lo x>l Liog 3 cos(y_zj
= — — —_—— —_— :a
y 5 g 2 5 94 13. .
Y = Secx 15. 2y—1=e"(sinx—Cos x)
. y=x+2=log (x* (v +2)? 17. y*=x*=4
1
(x+4y=y+3 19. (63t+27)3
6.93% 21. Rs1648
2log 2
. [11) 23. A
d 10
(x—y)ZZCx ex 2. y=xlog|x|+Cx
tan™ [ j Zlog(x*+y?)+C 4. x2+ 3?2 =Cx
X
|x+\/_y|
\/7|0 | \/_ |=Iog|x|+C 6. y+ ,x2+y2 —Cy2
. Xy COS Z‘ =C 8. X|:1—COS(XJ:|=CSin(Xj
X x X
¢y = log Y_q 10. ye;+x=C
X
m
log (12 +)?) + 2 tan = = —+log2
X 2
y+2x=32y 13. cot[ j—log|ex|
X
2x
cos[ j—log|ex| 15. y= —(?C;'ﬁ0 x#e)
x 1-log|
C 17. D



n

3

11.

13.

15.
17.

(S

11.

13.

€3sT 619

1
- y= 3 (2sinx—cosx)+Ce® 2. y=e¢?+ Ce™

4

xy=%+C 4. y(secx +tanx)=secx+tanx—-x+C
x2
. y=(tanx—1) + Cetenr 6. y=E(4Iog|x|—1)+Cx’2
—2 2\-1 ; 2\-1
ylogx=7(1+log|x|)+C 8. y=(1+x%)" log|sinx|+C(1+x?)
—l—cotx+
y_x sinx 10. x+y+1)=Ce
2
y- C
X=—+— 12. x=3"+C
3y X =9y Y
T
Y =C0S x — 2 C0S? x 14. y(1+x2)=tan‘1x—z
y=4sinx-2sinx 16. x+y+1l=¢
y=4-x-2¢ 18. C 19. D
HITHTE 9 F HT I ECTB HITHH
() 2w 1 (i) gH 1;, W3 3
(iiiy A 4; w3 ufgg iz sat
'—ﬁ N2 — 2 "\2
Ty 5. ety =-pQ+0))
sinly + sinlx = C 8. cosy= X
X = . =
Y Y \/E
T x
tan- y + tan-i(e’) = 2 10. e’=y+C
log |x—y|=x+y+1 12. yeZ\/; =(2\/;+C)
2 2x+1
P L =lo ,x#=—1
ysinx=2x 5 (sin x =0) 14. y =109 o




620

15.
17.

2.

w9

1.
2.
3.
4.

31250

16. C
18. C

| fgnmi10.1 |

fe3 foga feg, <aed op B3te femaus §eamfera|

(i) mIsg

EN

(vi) Zaed
(i) Fa®s

N HI&

M —t
10km

w<

0

v

S

(i) Zaes (i) 7I®s (v) Aa®T (V) AI®T

(i) mase (i) 29ed (v) Zaed (V) AI®T

. () TIeTa M3 b RIfdeIFgdead 5|

(i) SqeT b MF d TWE TS|
(i) Sded M ¢ T Jyr <t four <9 95 ug 5959 &t |

@) A/ () g (i) v (v) B
| mifgnm 10 2 |
d|=+/3, |p|=+/62, |¢|=1
o<t § 39" S faret w3 T
o<t § 39" St fareat w3 T
x=2,y=3 5. -7TMI 6, —7iMI 6
-~ 1~ 1.~ 2~
—4j—k 7. ﬁlﬁ-ﬁjﬁ-ﬁk
R L, N
NCRNCRNE AN



10.

13.

16.

12.

14.

15.

€3gasT 621

40 8 5 16 12 3
NN RN N VANV N7
_1 _g g 15 H _1;_’_&’:4__]’(\ H N r
3’ '3 . () 3 31 3 (i) -3/ +3%
3i+2j+k 18. (C) 19. (B), (C), (D)
| mifgnmr 10 3 |
n [E]
4 2. COS 7 3. 0
% o, 102 22 7. 6|af?+11a.5-35/b|
114 . 3\/7!3\/7 . |Cl|+ D — “
jal=1,[p|=1 9. J13 10. 8
a - o a = a _3
Sdcd b et ST SAST T HAET T | 13. >
Fet St @ Sro-faeaHa w3 mrur fEg g Sdeat d M3 bh B |
COS_l(ﬂj
\/10—2 18. (D)
| mfgnm 10 .4 |
2~ 2+ 1 mi1l11
t—IF—JF—- - =
192 2. EgiFgiFgh 3 3G
27 -
35 6. #f [a]=0 7 |b|=0
&4t et <t Jig-feq fed Jur et femr feg Saea § 5= |
1
g 10. 152 11. (B) 12. (C)
WHITPHTIE 10 T HGTITT §CaB HITHTH
V3. 1.
7l+—]

Xy =X11 Yo~ W1 2o _Zl;\/(xz _xl)z +(1, _yl)z +(z, _Zl)z



622

12.
17.

5. 33 -
—it+—
2 2
&dt, a, b M3 ¢ & fagae f3st gaer g samg |
1 3 \/7,\ ~ 3 - 2 -
+— bl i— + k
3 6-20”2]7-@ NEZRNGT
- 1 - ~ ~
2:3 9. 3d +5h 10. 7(3i—6j+2k); 11,5
1 - ~ ~
5(1601—5]—70/() 13. =1 16. (B)
(D) 18. (C) 19. (B)
| mfgmmr11.1 |
0~ L , gt ot 1, 96 -2
J2 ' 2 I TN RN T A N R N
2 2 3. -2 8 2. 4 5 -

v T a a Ve

| mifenmr 112 |

i+27+3k+M(37+2]—2k) ffy ) ¥ ewafex o T |

" ~ “ A x -2 +1 z-4 _
F=2i—j+4k+)\(i+2)— k)M3TqIHAS JU 1 =y2 =— 9

é‘

}‘,.’

+2 y-4 z+95

3 5 6
F=(i-47+6k)+\@B7+7]+2k)

Syt Egeamitaaeh 7= A (51 -2 j+3k);

é‘u*e’raﬂaz’i?ﬂnmm-ﬂm%g “373

. JyrerIgeg mftaes b 7 =37 -2 -5k + A (11k)

St qracttvs Mitges § XS - YF2 _Z+5
0 0 11




10.

11.

12.

16.

10.

12.

€gosT 623

) 6= cost[L2 i o= cost| 8
(i) 6=cos [le’ (i) 6= cos [5\@}

. _ 1] 26 e
(i) 6= cos [—ng (i) 6= cos [3

_10 32
P=17 4. =< 15. 2429
3 8
\/]3 17. @
| mfgmm11.3 |
. (a) 0,0,1;2 (b)

-
. 5l
-
&l

2 3 -1 5

ANTENTANTANT S

a. 31+5] 6 k
70

. (@ x+ty-z=2 (b) 2x+3y-4z=1
) s-20x+@B-0)y+(2s+£)z=15
[24 36 48} (o 18 24]
@ (29" 29° 29 (b) 25" 25
1 11 -8
© 333 @ [0.59]

@ [F-(-2k)]-G+j-k)=0, x+y-z=3

©) [F-((+4j+6k)](i-2j+k)=0x-2y+z+1=0

(a) fdefeafonrfeaos IfE3ar fden 3 dwe =8 35 &t faedtmds I=att |
(b) 2x+3y—3z=5

g 5, -5 8. y=3 9. Tx—5+42-8=0
7

(381+68]+3k) 153 1. x—z+2=0

cos* (—15 ]
V731



624

13.

14.

10.

13.

15.
17.

19.

20.
23.

N

(@) cos™ [3 (b) IBwuR ST &5 |
(c) IZTMUA ST AT I& | (d) IZTHUR ST AHTETI& |
(e) 45°

3 g B
(a) 13 (b) 3
(c) 3 (d) 2

HIPHTIE 11 T §CTB HITHTH

° r_r_z 0
90 4. 1°0°0 5. 0
-10 A A - - -
k=7 7. ¥ =i+2j+3k+A(i+2j-5k)
. xty+tz=a+b+c 9. 9
17 -13 17 23
0,_,_ _101_) . -
022w (ZeZ) wuar
3. .. 1n
Tx—-8y+3z+25=0 14. p=51‘-|"'€
y—-3z+6=0 16. x+2y-3z-14=0
33x+45y+50z-41=0 18. 13
F=i+2]+3k+n(=3i+5] +4k)
i+2j—dk+1(27+3]+6k) 22. D

7=
B

| mifgmm12.1 |
(0,4) T3uFFw 2=16
(4,0) T dfe-ufe Z=-12

(@ﬁ] s Sr gy 7o 20
19'19) SIS ST L=

(El] 3wl
) Juwe-we Z=7



10.

n

o 0 9 &

10.
11.

€3gsT 625

4,3)F 2=18
(6,0) w3 (0, 3) & P st ur e 3 g 3 bt Fu-ife 2 =6,
(60, 0) T ufz-ufz Z = 300;
(120, 0) w3 (60, 30) & el =t 3ur vy *3 i 1 bt 3 ¥ 3
Z =600;
(0, 50) %3 (20, 40) & G =t ur ¥ 3 mfag A e F wfe-uiz Z = 100.
(0,200) 3 T F T Z = 400
zeradt e I Ents SRt Y
ey vt T g 5t 3 e et Z erdo FTE A
Mg 12 2

=Rs 160 .

. dar &t Fu 3 Fufarest = 30 fear 3gt &t mz 10 So3gt St as |
. () 4 ondaen3 12 fgae e 9d

(i) FTFJusg =Rs 200

ac € 3w Ufae w3 §%e € {35 Ufae; fu 3 fusg =Rs 73.50

=Rs 410

4TI BUNT 4TS € Bd<; TUI USF =Rs 32

A3gte 8 g m3 B 37 €20 f9%;Tu 3 Tu&F =Rs 160

200 SAFEY € SHE M3 50 UdeTS 5H&; U FUSF = Rs 1150000
Z=4x+6y?uﬁ—ukwaﬁ'ﬁ€'*ﬁ3x+6y280, 4x+3y2100,x20m§'
y>0, fdg xm3 y gHE9 s FI@FZ@ﬁWéW@%M;UﬁW
H& = Rs 104

arrfeee yre F, ¥ 100 kg w3 arrfesa are F, & 80 kg; uie-ufe & = Rs 1000
(D)



626

10.

11.

HIPHTIE 12 '3 ECTHB HITHH
P 3§t € 40 Ufae W3 Q 3gT & 15 Ufae; feefus A e S 3 <u wigyws
= 285 fearet
P39t 3 &arm3 Q 3gT T 6 &aT; W &t ufe-we vz = Rs 1950

. UE Eufe-wWe diz Rs 112 (X 39T & 2kg W3 Y 397 27 4 kQ).
. mamtfagfes et €t 40 fedet m3 fedanit At €t 160 feaet; U Tumg =

Rs 136000.

. AF :10, 503 40 fearet; B3 : 50, 03 0 feamet D, E M3 F ST gHIS TS

we-ufe g3 = Rs 510

. A3 :500, 3000 w2 3500 Bteq; B3 4000, 03 0 Bted 3 gHed; D,EmM3 F

& It ufe wie aHa = Rs 4400

P € 40 §arm3 Q ¥ 100 &aT; 3Tete s € Wl ufe gt = 470 kg.

P € 140 §ar 3 Q ¥ 50 &aT; 378t wa € U 3 Fu It = 595 kg.

A 3gT €t 800 ISt w3 B 3gT €T 400 ST, T3 U = Rs 16000

g™ 13.1

P(E|F)=§,P(F|E)=% 2. P(A|B)=;—2
(i) 0.32 (i) 0.64 (i) 0.98
1
26
.4 .4 L2

()] 11 (i) 5 (iin) 3
o1 .. 3 .. 6

()] 5 (i) 7 (iin) 7
(i 1 (i) 0
L . Lot
- 9. 10. @3 07
11 12 . 31
V23 W 23 W 2%



12.

14.

11.

12.

14.
17.

13.

@gosT 627

L1 L1 3 S
i 15. 0 16. C 17. D
15 . . .
|>rr@m¢r13.2 |
3 , B , M
25 © 102 ]
A3 BHHE IS |
E M3 Forae &d1 35 |
) 1 . 1
(i) P=10 (ii) P=x
(i) 0.12 (i) 058 (iii) 0.3 (iv) 0.4
3 - .
3 10. A3 Bwae &4 35 |
() 018 (i) 012 (i) 072 (iv) 0.28
7 3 6 . 20 .. 40
3 . () 81,(||) 81,(|||) a1
201 50 (i 16 1 b 1 1
i) 5. Gi) 5 SONO! L@ 0305
D 18. B
|nr@m¢r13.3 |
1 , 2 .9 L2
2 3 © 13 © 13
2 o 4 L1 g L
133 "9 52 T4
E 10 E 11 i 12 E
9 1 T34 " 50
A 14. C



628 Jfes

mferma 134
1. (i), (iii) M2 (iv) 2. X=0,1,2;3f 3. X=6,4,2,0
4. (i) X 0 1 2
ol L] L2
(X) 4 2 4
(i) X 0 1 2 3
S EEEE
(X) 8 8 8 8
(iin) X 1 2 3
ol L] L] 3|11
(X) 16 4 8 4 16
5. (i) X 0 1 2
ool 21 4] L
(X) 9 9 9
(i) X 0 1
o
(X) 36 36
6 X 0 1 2 3 4
72 256| 256 96 16 1
(X) 625| 625| 625| 625 625
7. X 0 1 2
ol 2| & L
(X) 16 16| 16
. 1 . 3 17
8. (i) k=— ) P(X<3)=— i) P(X>6)=—
0 10 (if) (<)lO (ii))  P( )100
3

(V) PO<X<3=r



€3sT 629

1 1 1
9. @ k=g () P(X<2)=7,P(X<2)=1P(X22)=

1 14
10. 15 11. § 12. ?
13. Var(X)=5.833,S.D =2.415
14. X 14 15 16 17 18 19 20 21
2 1 2 3 1 2 3 1
POl 5| 5| 5| 15| 15| 15| 15| 15

Yo = 17.53, Var(X) = 4.78 M3 S.D(X) = 2.19

15. E(X)=0.7 w3 Var (X) =0.21 16. B 17. D
wfgmm13.5
1 7 63
. () 3 (i) 64 (iin) 64
2 7 s (BE)
© 216 * 120\ 20
"G 45 243
-0 1024 W 25 W) To2a
5. (i) (0.95) (i) (0.95)*x 1.2 (i) 1-(0.95) x 1.2
(iv) 1-(0.95)
9 4 1 20
6. (Ej 7. [E) [20C,, + ®Cyy +...+ Cy |
o L
© 243
i 1_(2)“ ; 1(2)‘“’ 1_@(2)‘“’
- (@) 100 ® 3\1200 © Too\100
. 1(5)5 5 &(5}“ 5 2x9
T 12\6 © 18\6 ©o10M

14. C 15. A



630

12.

15.
17.

S G) 1

HITPHTIE 13 T HGTITT §CaB HITHTH
(i) 0
1
@ <

10
4. 1-)%°C,(0.9)(0.0*

r=7
4 6
2 2 864
w72 N .
W (5) () (5) ™) 3128
625 g g
23328 7
10 >4 11 :91
. Nz o 54
13 li 14 ji
29 " 16
i) 0.05 16 lﬁ
(i) O. Y]
18. C 19. B

—_— .0‘ —_—



(U3 'S AHATGN)

mifortfe 7

7.6.3.

WAt we% An3 Bfeng fersgrgee of fa

d

A(2ax + b) + B
T2 Wyt fI9 x € IS M3 MBS UeT & 3B&T IS 3, g YUI JET T
2aA = pm3 Ab+B=g¢g
feust milgae § I8 a9 3, AM3 BE WS YU T AT 75 |fern yam, fescans
Jot eI wigng ge& AeTd

AI(Zax+b)\/ax2 +bx+cdx+ BJ"\/ax2 +bx +cdx

Al +Bl, ,f7g

) I(Zax+b)\/ax2+bx+c dx T

ax + bx+ ¢ =1t,d813" (2ax + b)dx = dr T |

3

fen ®et, I, %(axz+bx+c)2+C1

fen 39T, L I\/ax2+bx+cdx

s YRS € US 328 3 7.6. 2 {9 9997 13 fescaes 739 € fenans dad usTaisT
HeTJ|




632 Ffez

fem 397, .[(px+q)\/ax2 +bx+ ¢ dx T WS wfydaTg ygT 9 femm AeT I |

Gergge 25 [xl+x—x* dyusTaT |
I €3 faat feut aat, wirt foy A< ot

v = A{di(lvtx—xz)}LB

X
=A(l-20)+B
S U fE9, x T ISTA M MIB U S Ta 99 Ja6 I G —2A= 113 A+B=0yu3
Jerd|
. o N 1 . 1 o
fegst mitaget § I8 d95 3, A = -5 S BZE yug gae It | fer yaa,

Fa R

fe5ead® Jot fed MEHT Ie8 AeTd

.[xxll+x—x2dx = —%J.(l—2x)\/1+x—x2dx+%.|.\/1+x—xzdx
= —ll +1I 1
o2t 27 ()

I, = [@-2x)1+ x—x*dx Sfevraaq|

1+x—x*=tdq137 (1 - 2x)dx = dt T

1 s
ferggt 1= [(1-2x)V1+x—xdx = jtzdt=§t2+cl

3

:%(l+x—x2)2+C1,ﬁ:|"€r C,IE MBI |

wiar, | = |V1+x—x’dx 3 feggaqi
2

5 1)?
- O O N
feg feseaes j4 (x 2) X
1 o . -
x—Ezt JEI3T dx=dtT|

|, = j {g\ —12dt
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1 /5 , 15, 2
= —t=—t"+—=-—sinT—=+C,
2 V4 2 4 J5
2x-1 —
= lu,/i—(x—l)2 +§sin1(2x 1]+C2
2 2 4 2 8 J5

1 5. 4(2x-1
= Z(Zx—l)'\/1+x—x2 +§sm 1( NG ]+C2,

fig C, Jet »es J |
) fs I »3 |, e s due 3, g yug dev d

1 i1
Ixx/1+x—x2dx = —§(1+x—x2)2+§(2x—1)\/1+x—x2

+sin (_Zx—lj +C, 13

16 \/g , e
C+C, .. _ -

C= —% g Famas T

nfg 7.7 € nifug <9, 35 fou yas irfvs a9

12. xiJx+x 13, (x+D)v2x* +3 14, (x+3)V3-4x—x°
§39

3 [2
12. %(x2+x)2——(2x+1)8x tx, 1 |0g|x+%+\/x2+x|+C

16
. 3
x4 2+
2

7 [x+2]+(x+2)\/3—4x—x2+c
2

1 .
~=(B3-4x-x*)? +—sin™
14. 3( x—x°) 5 7

3
13. %(2x2+3)2+§\/2x2+3+¥log +C
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wfge 10
10.7 STt AA BT TSESH
He 88 fa 4,p 3 ¢de 35 T T&51 GMT (b xC) ©f AAST JSaeH T,
a-(bxc) & abm3 e fengy <9 et nasd aesems afde gt Ifend [a,b, ¢
@ [ah ¢ ]) Tt fafpr mier T | fem yamg, Arg yrug §er 3 :
[a,b, ¢1= a-(bx¢)

ey
1. fa@fa (b xe) ffa saeq 7, fem wet . .

- NN - - : 1 '

i-(bx¢) RIAABITHIII= [, , ¢] i f ﬂ

S Fa®a TH T | !/ /r 7 jf

2 farfedtgu 3, ot rams gesem @ | / /
i 5 2west G5 ¢ 3 R |7/ / /
TSSO gaet 3 & ANTIY & 8% & ;// / 2
nfegs ger T (|8 939 10.28) | ;,/“ 3 /
fes™ e, I3 8 BT EMUT S I578< O

Z/

T AHT3J 9399 €T 43IeH ‘EXE‘ o) fg39 10.28
p 3 ¢ & AHES d9s o8 3% 3 &9 & ferwr ff9 ; v Yuue ot fem et Guet
a.(b x2)
g,frest | x ¢ &Stfewfde § swea di1g=feg —‘(Exé)‘ J | few et
ANT3d & 8%d eT Tfe3s
W(Exahg . )
3% = |a.bxa)| 51

3. HAT G=aji+a,j+ak, b=bi+b,j+bk MI =cji+c,]+csk, T3t

k
b b, b

o ¢ G
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= b,c, - b,c,) i+ (byc, = bc,) ]A + (b,c, — b,c)) ]:7

d. (l; x¢) = a,(byc;—byc,)+a,(b,e,—bic;)+a, (b, —byc,)

a 4, da,
b b, b
G 6 G

4. A99 §,bMI ¢ It fIs SFeq g5, 3t
[5157 E] = [51515] = [E,Ei,l;]

(f3at Sgedt € Tadt gH gese 3 Jtudt Aa®a JT6es © U fFo et ses= &dt
gera)

He 58 fa 5=alf+a2}+a3/€, l;=b12+b2}+b3/€m§' E=c15+c2}312 T
fer yar9, utea fen €t Afg g9 Aae 76 fa

a 4, da,
a5zl =2 b b
G 6 G

=a (bzca - bacz) + a, (b3cl - blc3) + a, (blcz - bzcl)

= bl (aacz - azca) + bz (alc3 - a3cl) + ba (azcl_ alcz)

b b, b
- |G & G

a 4, da,
= [b,é,a]
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5. Jiodt AABT IEEEH 4.(hx¢) <9, 3¢ (dot) »3 JI™ (cross) & »mun g

1
Ql
™
o)
X
S
~

|
|
—~
Q
—
[}
X
Sy
N
N

1
|
1
Q
Y}
Sy
| E—

7. [@,a,h]=0. festHa

[@,a,b] = [a,b,a,]

1
—
S
ISY)
QU
—

|
S
-
Q
X
Ql
N

feust @3 ez 7fIafaaT a3
SHITI

.0=0. (fa@fa i xa=0)

A7, 82 §9T9d 29I et @I @ fan S feg =3

b O

10-7-1 f3& Sdedt evmHIBt =T

T 1.f35Raeq G, | M3 ¢ AHIB! I I8, Add M3 =B A9 a.(gxg):og"lv
JI

g ag I ufast He 88 fa 5, »3 ¢ misstas|

FAG f M3 ¢ ST eI T5, 37 f g = o I3 fenaset G- (h x &) =0 Jar|
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HEd [, M3 ¢ AT 541 08, 3T | x =9ed g 3 B d=ar, fa@fa 5,5 W3 ¢
3BT TS |

fer &€t G- (h xc)=0 T

€BcITIMNEBET G-(hxc)=0TIFIT G M3 j « ¢ (<9 €< dro-fAea Ided
I, Mt s AT T A g " | g ST MR ST &9 392T T51UT b x ¢ &2
Sqest |, w3 ¢ IEETIfen et a] b I ¢ g migw fe Afae 3@ 9die U5,
F= eI A3BT I8 1797 =09,37 § JETSAEIqeT UHIII | M3 ¢ S 38T
I TSI (b x¢)=03,3" j W3 ¢ Mg dded Iedrm3 fenwet G, hm3 ¢
3Bt I=ar, fabfa oot & Saeg fagaT feust < 2aeqt o9 fan fea @ migg e d,
Stfern s fegrfagder |

feust : g fdgnt €t m3®3T € 99T, {35 Sdea e IH3®3T e fenan™ Jae JT
di3t A7 Aaet I fast W, 99 fdg A, B, C W3 D 33T §¥ I&, 7dd a9
AB,AC %3 AD MH3&I I |

Ge99E 26 4.(h x¢) USTATHAT =20 + j+3k, b=—i+2j+k M3 ¢=3i+ ]+ 2k J|

2 1 3
Jo wEyuzd, a.(bxd)=-1 2 1/=-10.
3 1 2

Segde 27. e fa SqeTG=7 - 2] +3k, b=-2/+3j— 4k MF c=7 -3 +5k
3BT TS |

1 -2 3
7% A YU a.(bxé)=|-2 2 -4/=0.
1 -3 5

fem &2t . yi 1 € wigAg 5,5méram438‘fémam

Qergge 28. HAT T G= | +3]+k, b=2i— ] —kM3| ¢=0i+7] +3k AHSBI T&,
ITATHBUITAS |
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3 1
mMIgg 2 -1 -1=0
A7 3

= 1(-3+7)-3(6+A)+1(14+A)=0

= A =0.

Sergge 29. wawS faAfagt @aeatai + 57 +k,—(j+k),3i +9]+4k M3 4(=i + | +k)
T8 gHT : 979 fig A, B, C 3 D ANSST T |

9% : oAt Aree gf fa 99 fdg A, B, C W3 D A3&! € 75| 799 {35 299
AB,AC "3 AD MBI TS|
waaTs [,@,A—C:,_AB]:O T
I AB=-—(j+k)—(4i +5]+k)=—4i-6] -2k
AC= (31 +9)+4k)—(4i +5]+k)=—i+4] +3k

M3 AD=4(—i+j+k)-(47 +5]+k)=-8— j+3k

-4 6 -2
fen sy [AB,ACAD|=|-1 4 3|=0.
-8 -1 3
fen ®et, A, B,C m3 D m33tI5 |

Swrgge 30. fAuag fa [a +E,5+E,E+&}=2[&,E,E} JI

—
ISy
+
S
S
+
ol
ol
+
ST

[

1]

(G@+b).(b+8)x(¢+a))

(G@+b).(bxT+bxa+Cx¢+¢xa)



1
INY
Sy
al
+
QU

| E—

1]
QU
—
Sy
X
—
o
+
QUL
N
N

= G.(bxé)+a.(bxd)
= [a.b.c]+[a,b.d]
MfIM™ 10.5
I AAGG=7-2]+3k,5=27 -3 +kmF c=37+ j-2k 3,37 abé|uzram
(€39:24)
2. TR IISICET =i -2]+3k b=—2i+3j—4k™M3 ¢=i-3]+5k AHIBT

5|
3. AAGRACT | — j+k,31+ j+2kmMTF [ +)\j - 3k MSB TS, 3T L THB UST
T (€391 =15)

4. WEBGIT G=i+ j+k,b=i"M3 C=ci+c,j+ck T,

() FE@ ¢, = 1M3 ¢,= 235, 3t ¢, U3Tdq, AN S §,b w3 ¢ mIETAS|
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(@%3'03:2)
(b) AT ¢, = -1 mF ¢, = 1 T&, 3T €INQ fof ¢ T AT VT G,h m3IC &
IS a4t g AT T |
5. ©omQ fanfadt et 47 +8+12k,2i +4]+6k,3i +5)+ 4k M3 57 +8]+5k
=% 99 ffg m3atIs |
6. #aggTfdg A(3,2,1),B(4, x,5),C(4,2-2)m3 D (6,5 -1) m3atgs, 3t
XTTHBUITIT | (€39 x=5)
7. WIS G+b,b+iWI+a WIBTE, IrEQ A STed g, h g ¢ mIE
Jgar |



